K ART PARTS

PARAURTI ANTERIORI
LEVAVEES o ONT BUMPERS

Nordix - Mini Exp - Rookie
Neos - Kid Vuy

a & WV
: V
ol
e '
W
o "R
W L™

4 In vigore dal - Effective from 01-08-2022




=2Ark

K& AT JAFPAN

FRONT BUMPERS

OTK KART JAPAN PRICE LIST
2025/2/1~

Description
A (0002.00DK JOYM YN - KG 507 (24) 507 upper front bumper Cik-Fia ¥20,100 ¥22,110
A (0002.00D 70 IN° - M6-10 CIK* (17) M6-M10 upper front bumper Cik-Fia ¥20,100 ¥22.110
B |0002.04BK J0YMC YN -I07 KG 507 (24) 507 lower front bumper Cik-Fia ¥20,100 ¥22,110
B  |0002.04B 70NV YN -/07 M6-10 CIK* (21) M6-M10 lower front bumper Cik-Fia ¥20,100 ¥22.110
C |0002.00B M4 upper front bumper
D 0002.03 M4 lower front bumper
E  [0002.ABAK 70V YN° - MK20 ROOKIE EVM MK20 upper front bumper ¥16,100 ¥17,710
E |0002.ABA J0M Y)° - M8 ROOKIE 20-22 M8 upper front bumper ¥16,100 ¥17,710
F  [0002.BA3K 707 YN -I07 MK20 ROOKIE EVM MK20 lower front bumper ¥16,100 ¥17,710
F  |0002.BA3 J0YMV YI° -/07 M8 ROOKIE 20-22 M8 lower front bumper ¥16,100 ¥17,710
G  |0002.A0A
H 0002.A0AH
1 (0002.A0B J0yM YN -/07 NEOS Neos lower front bumper ¥16,100 ¥17,710
J  [0002.BA1 J0YM Y\° ~/07 ROOKIE EV Rookie EV / UK lower front bumper ¥16,100 ¥17,710
K |0002.CB J07MYN° - MICRO Front bumper for Micro ¥16,100 ¥17,710
L [0126.80 70 YN -077° b-b M5 Threaded plate M5 ¥590 ¥649
M  |V.TCE5X25 Fry7°il hb 5x25 TCEI screw 5x25 mm ¥40 ¥44
N |V.TCE5X30 7 V=Y U5-S3ry7° i b 5x30 TCEI screw 5x30 mm ¥40 ¥44
0 [RP.5X11 J93%- D.5x11x1mm Washer @ 5x11x1 mm ¥10 ¥11
P D.M5 Fybh M5 Nut M5 ¥10 ¥11
Q [0301.c1 0 M YN =F4OuHile - MSTD Bracket for front bumper support Red ¥1,100 ¥1,210
Q [0301.CN Bracket for front bumper support Black ¥1,100 ¥1,210
R [0301.C2 0N YN =249 AN - Fixing lever for front bumper ¥4,000 ¥4,400
S |V.TPSCEI6X20  |45i" b 6x20 TPSCEI screw 6x20 mm ¥40 ¥44
T |0033.00 ot yhIySr- M6/ALU Biconical AL washer @ 6 mm ¥290 ¥319
U |[RP.6X12 J93%- D.6,3x12,5x1mm Washer @ 6,3x12,5x1 mm ¥20 ¥22
vV |p.meAB. EAI095Fy M6 (F40) A.B. nut M6 ¥20 ¥22
W |V.TCE6X20 Fry2° ik bb 6x20 TCEI screw 6x20 mm ¥30 ¥33
X  [V.TCE6X30 $ry7°ik bb 6x30 TCEI screw 6x30 mm ¥40 ¥44
Y |V.TB6X30 i 97291~ 6x30 TB screw 6x30 mm ¥90 ¥99




KART PARTS

ISR PROTEZIONI POSTERIORI
av. REAR PROTECTIONS

OK - KZ - Nordix

Mini Kart

6 — |0 vigore dal - Effective from 01-08-2022 se— E




OTK KART JAPAN PRICE LIST
2025/2/1~

=2Ark

K& AT JAFPAN

REAR PROTECTIONS

Description
A ]0312.D0 Y7l 45— M10 ASSY COMPLETE M10 REAR PROTECTION ¥31,100 ¥34,210
A |0312.001 YPRE 45~ M0 (E55-DF) M10 CENTRAL REAR PROTECTION ¥20,900(  ¥22,990
A |0312.002 YPAEC 13- M10 (1pc/SHBIDH) M10 EXTERNAL REAR PROTECTION ¥6,100 ¥6,710
B [0312.AB30KIT YPRii° 45~ M10 A7-A9Y1-KIT/D.30mm M10 REAR PROTECTION COMP.CONNECTION KIT - D.30 ¥27,800 ¥30,580
B 0312.AB32KIT Y7l 43— M10 27-A9Y1-KIT/D.32mm M10 REAR PROTECTION COMP.CONNECTION KIT - D.32 ¥27,800 ¥30,580
C  [0312.A0NXKIT  [3¥7°Y-PI%593KIT Nordix Complete connection kit for Nordix chassis ¥28,100 ¥30,910
D (0312.00A YPRik° 15-1%9937 M4-10(Y7 ik 15-181) Connection for rear protection ¥5,400 ¥5,940
E [0312.00C 72l 43-1%953 J4ik° - M4/M5/M10(7 1~ AdRl) Connection support for rear protection ¥5,400 ¥5,940
F  (0067.D1 Y7 45-h5- 30mm Rear bumper bush @ 30 mm ¥1,300 ¥1,430
F  [0067.D2 Y7k 45-h5- 32mm Rear bumper bush @ 32 mm ¥1,300 ¥1,430
G  (0066.00 YPA YN -3 - D.30mm Rear bumper rubber @ 30 mm ¥1,100 ¥1,210
G (0066.B0 YPA YN -3/" - D.32mm Rear bumper rubber @ 32 mm ¥1,100 ¥1,210
H |0066.D0 YPii°45-31" - CLOB-20mm Rear bumper rubber @ 20 mm ¥1,100 ¥1,210
I |v.TE10x120 AFT VR W 10x120 (U7 IN°-° Wb) TE screw 10x120mm ¥690 ¥759
I |V.TE10X130 AT IR VM 10x130 (UZI UM =il )b b) TE screw 10x130mm ¥690 ¥759
J R.P.10X30X2,5 795¥- D.10x30x2.5 Washer @ 10x30x2,5 mm ¥50 ¥55
K |D.M10 FyhM10 Nut M10 ¥30 ¥33
L |p.m10AB. 099#9 MMA0(F40Y)LOW 093y AM10(340%) LOW ¥50 ¥55
M [RP.8X17 793¢~ D.8x17 Washer @ 8x17 mm ¥20 ¥22
N |D.M8AB. oysrime (+40) A.B. nut M8 ¥30 ¥33
0 |V.TB8X16 i 97291~ 6x16 BUTTON HEAD SCREW 6x16 mm ¥100 ¥110
P 0087.A0 ot"ypIySv- M8/ALU (BLK) WASHER AL. D.8x35 mm ¥410 ¥451
Q |V.TPSCEI8X30 #3ik" )b b 8x30 COUNTERSUNK HEAD SCREW 8x30 mm ¥70 ¥77
R [0312.FB Y7k 415~ M5 (MINI) Mini Kart rear protection ¥21,900 ¥24,090
S |0312.FBKIT Y7 45~ M5 A7-A9Y1-KIT/D.28mm (MINI) Complete Mini Kart connection kit ¥28,100 ¥30,910
T [0312.00FA U7k 45-1%953Y M5(J8Y) Connection for Mini Kart rear protection ¥4,300 ¥4,730
U [0312.00D Y7 45-1%9%3Y Nordix Connection for Nordix ¥5,400 ¥5,940
vV (0087.00N S-hot" yhIYS¥- M8/F407 Black Seat washer @ 8 mm ¥160 ¥176
W [D.MBAA. 0yo3yM8 (F40))E AA. nut M8 ¥30 ¥33
X |0067.D3 Y7 45-h5- 28mm Rear bumper bush @ 28 mm ¥1,300 ¥1,430
Y [0066.A0 YPA YN -3/ - D.28mm Rear bumper rubber @ 28 mm ¥1,100 ¥1,210
Z |RP.10X25 793~ D.10,5x25x2mm Washer @ 10,5x25x2 mm ¥60 ¥66
AA  |0069.A0 " w5Y7° V-MATYh-IYEL Crystal sticky number-plate ¥690 ¥759
AB [RP.8X24 y3v- D.8x24(V7AK° 15-M10FH) Washer @ 8x24x2 mm ¥30 ¥33




K ART PARTS

S PARAURTI LATERALI
av. SIDE BUMPERS

-
L

Mini Exp
Mini Kid

8 In vigore dal - Effective from 01-08-2022 E




=2Ark

K& AT JAFPAN

SIDE BUMPERS

Description

OTK KART JAPAN PRICE LIST
2025/2/1~

A [0004.F8DX B4 AN - M10R Right side-bumper for M10 bodyworks ¥21,200 ¥23,320
B  |0004.F8SX B4 A IN° - M10/L Left side-bumper for M10 bodyworks ¥21,200 ¥23,320
C  [0004.F7DX B4 A IN° - M6IR Right side-bumper for M6 bodyworks ¥19,400 ¥21,340
D |0004.F7SX B4 IN° - M6/L Left side-bumper for M6 bodyworks ¥19,400 ¥21,340
E  |0004.F6DX Right side-bumper for M4 bodyworks

F  |0004.F6SX Left side-bumper for M4 bodyworks

G  [0004.CCEDX #4p" * Y)\° - ROOKIE 2020/M8/R Right side-bumper for M8 bodyworks ¥19,400 ¥21,340
H [0004.CCESX 40 " J\° - ROOKIE 2020/M8/L Left side-bumper for M8 bodyworks ¥19,400 ¥21,340
I |0004.CCADX #4 M N* J1\° - MINI KID/R Mini Exp - Mini Kid right side-bumper ¥19,400 ¥21,340
J  |0004.CCASX #47"A* Y)\° - MINI KID/L Mini Exp - Mini Kid left side-bumper ¥19,400 ¥21,340
K |0004.B2DX #4p 1 YI\°-MICRO/R Micro right side-bumper ¥12,900 ¥14,190
L  |0004.B2SX #4p A" N° -MICRO/L Micro left side-bumper ¥12,900 ¥14,190
M |0004.00A PIFNAT V=530 NI - Anti-vibration buffer ¥840 ¥924
N  |0004.00B1 FOVDYIBAF N IN° - Nylon locker for side-bumper ¥250 ¥275
0 [V.TCE6X30 $ry7°ik bb 6x30 TCEI screw 6x30 mm ¥40 ¥44
P [R.P.6X12 7y3v- D.6,3x12,5x1mm Washer @ 6,3x12,5x1 mm ¥20 ¥22
Q |D.M6AB. 709y MG (F40) AB. nut M6 ¥20 ¥22




K ART PARTS

S PIANTONI STERZO
av. STEERING COLUMNS

Rookie - Mini Exp
Nordix - Neos - Kid

Micro Rookie Neos

T U
Mini Exp % %/"'
Kid o
G‘!S

10 In vigore dal - Effective from 01-08-2022 E




=2Ark

K& AT JAFPAN

STEERING COLUMNS

OTK KART JAPAN PRICE LIST

2025/2/1~

Description

A |0005.BA8 AFPYYT 997 b 47cm-M8 38/50 steering column L. 470 mm ¥14,500 ¥15,950
A |0005.BB8 AFPYY9 997 b 49cm-M8 38/50 steering column L. 490 mm ¥14,500 ¥15,950
A |0005.BC8 AFPYYT 997 b 51cm-M8 38/50 steering column L. 510 mm ¥14,500 ¥15,950
B  |0005.F08 AFPYUYY" 517 b 47cm/SP-M8 45/55 slotted steering column L. 470 mm ¥15,800 ¥17,380
B  [0005.FAS AFPYD 57 b 49cm/SP-M8 45/55 slotted steering column L. 490 mm ¥15,800 ¥17,380
B [0005.FB8 AFPY9" 57 b 51cm/SP-M8 45/55 slotted steering column L. 510 mm ¥15,800 ¥17,380
C  [0005.COUKS AFPYUY" 597 b 43cm-M8 Steering column for Nordix - Mini - Kid ¥14,500 ¥15,950
D (0005.D0 A7PY9° 597 MICRO Steering column for Micro ¥14,500 ¥15,950
E (0011.00 AFPUYT 59T M PYSST D10 (PB10A) Steering column joinbal @ 10 mm ¥2,800 ¥3,080
F  ]0012.00 AFPUIY SvINo-b"-UuH* Seeger for steering column joinbal ¥70 Y77
G |D.MBAA. 0y73yM8 (F40))E AA. nut M8 ¥30 ¥33
H |0086.B0 AFPYT SvIMHOvHiEe - M4TR Nylon support for steering column Red ¥2,200 ¥2.420
H [0086.BON Nylon support for steering column Black ¥2,200 ¥2,420
1 (0115.00 AFPUYH v MYEYS” 7" Y1 Steering column locking bush ¥1,400 ¥1,540
J |G.5X12 AFPYYY" 597 MIyh-5X12 Locker M5x12 mm conical tip ¥40 ¥44
K D.M5 Fyh M5 Nut M5 ¥10 ¥11
L [RP.8X17 79y~ D.8x17 Washer @ 8x17 mm ¥20 ¥22
N [V.TCE8X65 $97°ii" b 8x65 TCEI screw 8x65 mm ¥0
N  |V.TCE8X70F Drilled TCEI screw 8x70 mm
0 |V.TCE8X75 $ry7°il b 8x75 TCEI screw 8x75 mm
O |V.TCE8X75F Drilled TCEI screw 8x75 mm
P1  (0008.A0 540y 270mm Steering tie-rod L. 270 mm ¥4,500 ¥4,950
P2 (0008.E0 540y 235mm Steering tie-rod L. 235 mm ¥4,500 ¥4,950
P3 (0008.B0 540y 220mm Steering tie-rod L. 220 mm ¥4,500 ¥4,950
P4 (0008.CO 540y 190mm Steering tie-rod L. 190 mm ¥4,500 ¥4,950
Q (0009.00 IKO 440y M " =N 3V MR(Fy MEL) Complete right steering joinbal ¥2,000 ¥2200
R  |0009.A0 IKO 440y M ik =) 3 ML(Fy MEU) Complete left steering joinbal ¥2,000 ¥2,200
S |0026.A0 i =I5" 3{I AN -4~ 8x13x4 Joinbal spacer @ 8x13x4 mm ¥510 ¥561
T (0216.00 ot yMIYS - M8/ALU Biconical AL washer @ 8 mm ¥360 ¥396
U |V.TPSCEI8X40 #3i" v b 8x40 TPSCEI screw 8x40 mm ¥80 ¥88
U  |V.TPSCEI8X45F Drilled TPSCEI screw 8x45 mm
V [RP.8X12 793¢~ D.8x12 Washer @ 8x12x2 mm ¥10 ¥11
W |0011.01 AFPYYT 99T M-D74-T95¢- D.8 Safety washer for steering wheel column pin ¥730 ¥803

D.M10AB. 093y MM10(F40%)LOW 093y AM10(F40%) LOW ¥50 ¥55

A.E.RA7 Seeger @ 7 mm “RA Type” (USA only) ¥0

0255.00 Spring for drilled screws ¥0




K ART PARTS

T 05 MOZZ| VOLANTE E LEVE FRIZIONE
av. STEERING WHEEL’S HUBS AND CLUTCH LEVERS

12 In vigore dal - Effective from 01-08-2022




=2Ark

K& AT JAFPAN

STEERING WHEEL'S HUBS AND CLUTCH LEVERS

Description

OTK KART JAPAN PRICE LIST
2025/2/1~

A |0084.BAC AFPYYD i Aleiti-ly AL steering wheel hub - 6 holes ¥11,800 ¥12,980
B1 [0084.D2 AFPUYH S R AN ~H-16ifi- )l Spacer for steering wheel hub 6 holes 2 mm ¥770 ¥847
B2 |0084.DI AFPUIT R 59§59 AN -4~ Inclined spacer for steering wheel hub ¥9,400 ¥10,340
C |0084.BAIB YSTUVUNSTE YU WS AL steering wheel angled hub - 6 holes ¥20,600 ¥22,660
D |0084.BAB AFPYYD i 3= AL steering wheel hub - 3 holes ¥11,800 ¥12,980
E [V.TB5X20 i 9YA9Y1- 5x20 TB screw 5x20 mm (for BSD system) ¥80 ¥88
E |V.TB5X25F Drilled TB screw 5x25 mm
E |V.TB5X40 " 9Y29Y1- 5x40 Button TB 5x40 mm (for SA3 system) ¥100 ¥110
E |V.TB5X45F Drilled TB screw 5x45 mm
F [RP.5X11 J95v- D.5x11x1mm Washer @ 5x11x1 mm ¥10 ¥11
G (D.M5AB. 0yoy b M5(340Y) A.B. nut M5 ¥20 ¥22
H |V.TCE6X35 $ry7° iKbb 6x35 TCEI screw 6x35 mm ¥40 ¥44
H |V.TCE6X40F Drilled TCEI screw 6x40 mm
| R.P.6X12 7y3v- D.6,3x12,5x1mm Washer @ 6,3x12,5x1 mm ¥20 ¥22
J |p.meAB. A7095F9 M6 (F40) AB. nut M6 ¥20 ¥22
L [V.TPSCEI6X25  [#3i"hb 6x25 TPSCEI screw 6x25 mm ¥40 ¥44
L  |V.TPSCEI6X30F Drilled TPSCEI screw 6x30 mm
M [0033.00 0" yhIyor- M6/ALU Biconical AL washer @ 6 mm ¥290 ¥319
N |D.M6AB. £A70953y MM6 (F407) A.B. nut M6 ¥20 ¥22
S [0113.A0KIT 7hEH39FUN°-KIT Forged clutch lever Kit ¥23,800 ¥26,180
T |0113.A0 VI59FUN - Clutch lever Forged ¥10,100 ¥11,110
U [0014.D02 N5 IE° Y Adj Pin for pedal adjustment ¥90 ¥99
vV (0113.A1 FVI59FUN -HiKe -p Clutch lever support ¥7,200 ¥7,920
W |0113.A2 PVEH39FUN -19A793Y Clutch lever extension ¥4,800 ¥5,280
X [0113.A3 PHEH9FUN-E° Pin clutch lever ¥510 ¥561
Y [0113.A4 7hzH39FVN"-7"y51 D.3x4x3 Bush @ 3X4X3 mm ¥220 ¥242
z 0113.A5 FVZI59FVN"-7% v51 D.5x6x4 Bush@ 5X6X4 mm ¥260 ¥286
AA [AE.A5 FVZI59FUN-5-h"~ D.5 Seeger 5 mm ¥10 ¥11
AB  |R.P.5X11 799¥- D.5x11x1mm Washer @ 5x11x1 mm ¥10 ¥11
AC |D.M5AB. DYy b M5(F40) A.B. nut M5 ¥20 ¥22
AD |V.TB5X25 i 9929Y1- 5x25 TB screw 5x25 mm ¥100 ¥110
AE |V.TCE4X10 TCEIl screw 4x10 mm
AF  |V.TB5X30 992991~ 5x30 TB screw 5x30 mm ¥110 ¥121
0255.00 Spring for drilled screws




kK

KART PARTS
TP SUPPORTI TELEMETRIA
av. DATA SYSTEM SUPPORTS
E@@
p H FIG
-
N
G H e
E- - EG FIG
= H FIG y Fa .
& - 0 FIG
E B F (r )
J—? H '!I' E > E *
_ F
H E“ﬁ- H
E(%
N
)
H
c@ L)Y FG
| o & ) (F»;G
) 5 H
¥ -
E ! =
@ H

14

— |n vigore dal - Effective from 01-08-2022 se——

X




=2Ark

K& AT JAFPAN

DATA SYSTEM SUPPORTS

OTK KART JAPAN PRICE LIST

2025/2/1~

Description

A |0083.COAKIT Complete Pl support kit

B |0083.COBKIT 7" -40h" -#i° - FKIT(AIM/UNIPRO) Complete DAKTON - UNIPRO support kit ¥13,900 ¥15,290
c |0083.cocKIT 7 -5 -4ik° - PKIT(ALFANO) Complete ALFANO support kit ¥13,900  ¥15,290
D |0083.COEKIT *-508" -4#° - PKIT(MYCHRONS) Complete MYCHRON 5 support kit ¥10,300)  ¥11,330
E [p.m4as. 095+y MM4(HIIY) AB. nut M4 ¥20 ¥22
F  |V.TB4X12 "9y~ 4x12 TB screw 4x12 mm ¥60 ¥66
G |V.TB4X16 T 9VAY1- 4X16(A VIV IHik° - BSTHR) TB screw 4x16 mm ¥60 ¥66
H [R.P.4X8 95— D.4x8 Washer @ 4x8 mm ¥0
I |D.M5AB. 0yo1y b M5(F40Y) A.B. nut M5 ¥20 ¥22
J |R.P.5X11 J93%- D.5x11x1mm Washer @ 5x11x1 mm ¥10 ¥11
K |V.TB5X22 " 9y2991- 5X22 TB screw 5x22 mm




Sk

K ART PARTS

T 07 PEDALI REGOLABILI IN ALLUMINIO
av. ALUMINIUM ADJUSTABLE PEDALS

16 In vigore dal - Effective from 01-08-2022




=2Ark

K& AT JAFPAN

ALUMINIUM ADJUSTABLE PEDALS

OTK KART JAPAN PRICE LIST

2025/2/1~

Description
A |0014.DC 7HEIN° 5" |y ADJIKZ Adjustable AL accelerator pedal ¥26,200 ¥28,820
B |0015.DC 7°b-$0°5" ) ADJIKZ Adjustable AL brake pedal ¥26,200 ¥28,820
C |0014.D04 7393 7" 991 12x10x7mm ADJ Flanged bush @ 12x10x7 mm ¥210 ¥231
D |RP.10X16X1 J93¥- D.10x16x1mm Washer @ 10x16x1 mm ¥30 ¥33
E |0014.002 A5 )lt° Y ADJ Pin for pedal adjustment ¥100 ¥110
F  |0014.003 A5 e yh ADJ Pivot for pedal adjustment ¥780 ¥858
G |0014.D01 A5 7 yy1 ADJ Bush for pedal adjustment ¥750 ¥825
H |[RES A2°Y5° 995 ¥- D.8x15 Spring washer @ 8 mm ¥30 ¥33
I |0017.D0 N°5* )29V 1- ADJ/EVS/EVM (70mm) Adjustable pedal screw ¥2,900 ¥3,190
J  |0016.DA PhE5-27°1>5" ADJ Return accelerator pedal spring ¥1,100 ¥1,210
K |0016.DB 7 b-3V5-527°Uy5" ADJ Return brake pedal spring ¥1,100 ¥1,210
L [0014.D3 7HEIN° 5 Wik -+ ADJ AL accelerator pedal support ¥13,600 ¥14,960
M |0015.D3 7 b-N°5* ik -+ ADJ AL brake pedal support ¥13,700 ¥15,070
N |V.TB6X25 i 9YAIY1- 6x25 TB screw 6x25 mm ¥80 ¥88
0 |[RP.8X17 J9v- D.8x17 Washer @ 8x17 mm ¥20 ¥22
P |D.MSAA. 0y73yM8 (F40%)E AA. nut M8 ¥30 ¥33
Q [V.TB5X35 " 9929Y1- 5x35 TB screw 5x35 mm ¥110 ¥121
R D.M5 Fybh M5 Nut M5 ¥10 ¥11
S |D.M5CIECHI 723N Ty M5 Blind nut M5 ¥20 ¥22




K ART PARTS

SSNPFP PEDALI IN ACCIAIO CROMATO
av. CHROME-PLATED PEDALS

| ” ,/
~ e X
OK-KZ-CADETTI ® “~.Re /&

18 In vigore dal - Effective from 01-08-2022 g




OTK KART JAPAN PRICE LIST
2025/2/1~

=2Ark

K& AT JAFPAN

CHROMIUM-PLATED PEDALS

Description

A |0014.AB 79EWA° 5" )y NEOS/IROOKIE EV Accelerator pedal for Neos - Rookie EV ¥15,500 ¥17,050
B  |0015.BB 7" b-#n° 4" ), NEOS/ROOKIE EV Brake pedal for Neos - Rookie EV ¥16,700 ¥18,370
C  |0014.AA 39 -PYENA° 5" )y ROOKIE Accelerator pedal for Mini Rookie - Nordix ¥15,500 ¥17,050
D |0015.BA 39°=7"b-$n° 4" ROOKIE Brake pedal for Mini Rookie - Nordix ¥16,700 ¥18,370
E  (0014.00 7hewne 5 (IR BY) Chrome-plated accelerator pedal ¥15,500 ¥17,050
F 10015.00 7 b= 5" (1B BY) Chrome-plated hydraulic brake pedal ¥16,200 ¥17,820
G |0017.B0 A°5* ),ADY1-/SHORT NEOS/ROOKIE EV Pedal screw Neos - Rookie EV ¥2,900 ¥3,190
H [0017.A0 N5\ A9Y1-/ILONG (IHEY ROOKIE) Rookie pedal screw ¥2,900 ¥3,190
I |R.P.8X12 795v- D.8x12 Washer @ 8x12x2 mm ¥10 ¥11
J  |D.MSAA. 0yo3yM8 (F40))E AA. nut M8 ¥30 ¥33
K {0016.00 N5 WS-527°00 Return pedal spring Rookie - Micro ¥510 ¥561
L [0016.FAA 79EWE-927°Y59" Neos/EV Accelerator pedal spring Mini Neos ¥3,600 ¥3,960
M |0016.FBA 7 b-$Y9-527° U Neos/EV Brake pedal spring Mini Neos ¥3,600 ¥3,960
N {0017.001 N°5* ,ADY1-AA° -%- NEOS/ROOKIE EV Pedal screw spacer ¥1,300 ¥1,430
0 |0116.B8 $-9h27° U5 1pUN°-t° > Circle spring ¥380 ¥418
P 0121.00 Pedal plug @ 12 mm Red

P ]0121.00N Pedal plug @ 12 mm Black

Q |V.TCE6X30 Fry7°ik* b b 6x30 TCEI screw 6x30 mm ¥40 ¥44
R |D.M6AB. EAI0y5Fy M6 (F407) A.B. nut M6 ¥20 ¥22




K ART PARTS

PEDALIERA MICRO
IEVAUERS (11 CRO PEDALS

20 In vigore dal - Effective from 01-08-2022




OTK KART JAPAN PRICE LIST
2025/2/1~

=2Ark

K& AT JAFPAN

MICRO PEDALS

Description
A |0015.C0 7°b-$A°5" )y MICRO Micro brake pedal ¥14,000 ¥15,400
B [0014.C0 79EWN° 5" )y MICRO Micro accelerator pedal ¥14,300 ¥15,730
C (0016.00 N5 WS-527°00 Return pedal spring Rookie - Micro ¥510 ¥561
D [0010.E3 A°5°)29Y1- MICRO Threaded bar M8 ¥1,300 ¥1,430
E |0010.E2 A°5* ik - P AA° -#- MICRO Micro pedals spacer ¥930 ¥1,023
F |RP.8X17 Jy3v- D.8x17 Washer @ 8x17 mm ¥20 ¥22
G |D.M8 540y R -1 adoMYMR Nut M8 ¥20 ¥22
G1 [D.MSAA. 0yo3yM8 (F40%)E AA. nut M8 ¥30 ¥33
H {0010.00D3 ROOKIE/MICRO 79 Mii° ~ I §* bR - Accelerator locking plate for Micro rudder pedals ¥4,300 ¥4,730
I [V.TCE5X30 7 V-#0° YR US-S3ry7° i b 5x30 TCEI screw 5x30 mm ¥40 ¥44
J  [RP.5X11 J93¥- D.5x11 Washer @ 5x11x1 mm ¥10 ¥11
K D.M5 Fyh M5 Nut M5 ¥10 ¥11
L  |0010.E1 A°5* \4ik° - MICRO Micro rudder pedals support ¥9,900 ¥10,890
M |V.TPSCEI6X30  [#3i" )} 6x30 TPSCEI screw 6x30 mm ¥50 ¥55
N |0033.00 0" yhIySr- M6/ALU Biconical AL washer @ 6 mm ¥290 ¥319
0 [RP.6X18 Jy¥- D.6x18 Washer @ 6x18x1 mm ¥10 ¥11
P |D.M6AB. 7093y MG (F40) AB. nut M6 ¥20 ¥22
Q (0010.00B4 7y Mfik° =bAN® =~ 5mm Spacer 5 mm ¥940 ¥1,034
R [0214.C0 AZHNT V-3E° Y T-I74-5-7 b Mechanic brake pin safety cable ¥2,500 ¥2,750
S [RP.6X12 J9¥- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
T (0213.00 O8N T-75" 25~ Adjuster ¥490 ¥539
U |0214.00 AZHNT T L-$E°Y Mechanic brake pin ¥2,500 ¥2,750




KART PARTS

T 10 PEDALIERA MINI KID
av. MINI KID PEDALS

22 In vigore dal - Effective from 01-08-2022




OTK KART JAPAN PRICE LIST
2025/2/1~

=2Ark

K& AT JAFPAN

MINI KID PEDAL

Description

A [0010.FOKIT Complete rudder pedals for Mini Kid

B  (0010.Fo1 Footrest for Mini Kid Footrest for Mini Kid ¥5,800 ¥6,380
C |0010.F1 Rudder pedals support Rudder pedals support ¥4,100 ¥4,510
D (0010.F2 Pedal spacer for Mini Kid Pedal spacer for Mini Kid ¥940 ¥1,034
E |0014.F01 Accelerator Pedal Accelerator Pedal ¥14,300 ¥15,730
F  |0015.F01 Brake pedal Brake pedal ¥14,000 ¥15,400
G [0016.FA Accelerator Pedal spring Accelerator Pedal spring ¥2,400 ¥2,640
H |0016.FB Brake pedal spring Brake pedal spring ¥2,400 ¥2.640
I |0017.F0 Rudder pedal screw Rudder pedal screw ¥2,900 ¥3,190
J |0116.E8 Adjuster's peg brake caliper Micro - Mini Kid Adjuster's peg brake caliper Micro - Mini Kid ¥1,900 ¥2,090
K [0209.F0 Accelerator cable sleeve Accelerator cable sleeve ¥570 ¥627
L [0213.00 O8N T-75" 25~ Adjuster ¥490 ¥539
M D.M5 Fybh M5 Nut M5 ¥10 ¥11
N [D.M6AB. EAI09Fy M6 (F407) A.B. nut M6 ¥20 ¥22
O |D.M8 540yM R -1 adoMYMR Nut M8 ¥20 ¥22
P |D.MsAA. 0y73yM8 (F40%)E AA. nut M8 ¥30 ¥33
Q |R.P.6X12 7y3v- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
R |R.P.8X17 793¢~ D.8x17 Washer @ 8x17x1 mm ¥20 ¥22
s |rp.sxa4 yyv- D.8x24(U7Ai 45-M10Fd) Washer @ 8x24x2 mm ¥30 ¥33
T [V.TB5X12 " 9YAIU1- 5%12 TB screw 5x12 mm ¥60 ¥66
U |V.TCE8X90 $ry7°ik bb 8x90 TCEI screw 8x90 mm ¥170 ¥187
vV  [0116.B8 $-9h27° 055" 1vUN°-t° Circle spring ¥380 ¥418




K ART PARTS

POGGIAPIEDI
L FOOTREST

24 In vigore dal - Effective from 01-08-2022




=2Ark

K& AT JAFPAN

OTK KART JAPAN PRICE LIST

2025/2/1~

FOOTREST
1 Description
A |0010.00BKIT Jy Mk -p ALUICOMP Adjustable AL footrest complete with support ¥24,100 ¥26,510
B [0010.00B1 7y Mfik° =p ALU/MINI Adjustable AL footrest ¥11,300 ¥12,430
C |0010.00BB2 #iti° - b7y M - MMINI Support footrest ¥9,700 ¥10,670
D (0010.00B 7y M -p ALU/ONLY Adjustable AL footrest ¥15,300 ¥16,830
E ]0010.00B3 7y Mpil° =PAN® =#- 10mm Spacer 10 mm ¥1,100 ¥1,210
F  |0010.00B4 7y Mfik° =PAN® =~ 5mm Spacer 5 mm ¥940 ¥1,034
G  |V.TCE6X45 Fry7° ik b 6x45 TCEI screw 6x45 mm ¥60 ¥66
H ]0121.00 Pedal plug @ 12 mm Red Pedal plug @ 12 mm Red ¥80 ¥88
H [0121.00N Pedal plug @ 12 mm Black Pedal plug @ 12 mm Black ¥80 ¥88
I ]0010.00B2 #ii° -y Mif° - MOK-KZ Support for adjustable footrest ¥9,700 ¥10,670
J  |V.TCE6X25 FryI°il” hb 6x25 TCEI screw 6x25 mm ¥40 ¥44
K [RP.6X12 Jy3v- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
L |D.M6AB. EAI0y5Fy M6 (F407) A.B. nut M6 ¥20 ¥22




K ART PARTS

T 12 PEDALIERA ARRETRATA OK-KZ
av. OK-KZ RUDDER PEDALS

26 In vigore dal - Effective from 01-08-2022 E




@ | | K OTK KART JAPAN PRICE LIST

KART JAPAN 2025/2/1~

OK-KZ RUDDER PEDALS

Description
A |0010.00GAKIT  |Jr.39"-A°5" ), AL.Kit 2019 Complete AL rudder pedals ¥73,500 ¥80,850
B  (0010.00B2 #iti° -y Mk - MOK-KZ Support for adjustable footrest ¥3,400 ¥3,740
C (0010.00B4 7y Mik° =PAN® =~ 5mm Spacer 5 mm ¥940 ¥1,034
D |0010.00CB5 35" =N 5" VIS v- Rudder pedals countersunk washer ¥410 ¥451
E ]0010.00G1 359" -n°5* \Hik° - 2019 Rudder pedals support OK-KZ forged ¥21,400 ¥23,540
F  [0010.00G2 39°-N°5* 7y 2019 Rudder pedal foot OK-KZ forged ¥8,200 ¥9,020
G |0014.DB3A 39 -PUENA° 5* I 4it° - ADJILONG Accelerator pedal support for rudder pedals ¥16,200 ¥17,820
H |0015.DB3A 359" =7"b-#n° 5" il - ADJILONG Brake pedal support for rudder pedals ¥16,100 ¥17,710
| |0016.DAB 39" -PUEWS-27°Y5" ADJ Return accelerator pedal springfor rudder pedals ¥1,600 ¥1,760
J  [0016.DBB 39° =7 b-$Y5-927°Y»5* ADJ Return brake pedal springfor rudder pedals ¥1,600 ¥1,760
K [0017.D0 N°5* )29V 1- ADJ/EVS/EVM (70mm) Adjustable pedal screw ¥2,900 ¥3,190
L [0118.470A IAF-3Y58° -0y h 470mm(Jr.7y M - M) Brake pump bent rod L.470 mm for rudder pedals ¥4,900 ¥5,390
M D.M5 Fybh M5 Nut M5 ¥10 ¥11
N D.M5CIECHI 7 74N Ty M5 Blind nut M5 ¥20 ¥22
0 |D.M6AB. 703y MG (F40) AB. nut M6 ¥20 ¥22
P |D.MSAA. 0y73yM8 (F40%)E AA. nut M8 ¥30 ¥33
Q |[RE®6 A7°UY5" 93¢~ D.6 Spring washer @ 6 mm ¥20 ¥22
R |RP.10X16X1 793~ D.10X16X1mm Washer @ 10x16x1 mm ¥30 ¥33
S [RP.6X12 Jyv- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
T [RP.8X17 793¢~ D.8x17 Washer @ 8x17x1 mm ¥20 ¥22
U  |V.TPSCEI6X55 #3i" b b 6x55 TPSCEI screw 6x55 mm ¥80 ¥88
vV [V.TB5X30 492991~ 5x30 TB screw 5x30 mm ¥110 ¥121
W |V.TB5X35 i 9YA9Y1- 5%35 TB screw 5x35 mm ¥90 ¥99
X [v.TB6X20 i 4YA9Y1- 6x20 TB screw 6x20 mm ¥80 ¥88
Y |V.TB6X25 " 9929Y1- 6x25 TB screw 6x25 mm ¥70 ¥77
Z |V.TCE6X45 Fry7° ik hb 6x45 TCEI screw 6x45 mm ¥60 ¥66
AA  |0010.00G4 39°-N°5* Iy bATYh- 2019 Anti-slip Sticker ¥560 ¥616




K ART PARTS

"SNP PEDALIERA ARRETRATA MINI
av. MINI RUDDER PEDALS

I
I
I
I
I
| Mini ROOKIE EV
I
I
I
I
I

Mini NEOS
®

£

28 In vigore dal - Effective from 01-08-2022 -]<




=2Ark

K& AT JAFPAN

MINI RUDDER PEDALS

OTK KART JAPAN PRICE LIST
2025/2/1~

Description
A [0010.00EAKIT 35" -4 Kit NEOSAF- I Complete rudder pedals for Mini NEOS ¥40,100 ¥44,110
B |0010.00EBKIT ROOKIE EV 7y M}ifi° -+ KITIAF-I(b7" ) Complete rudder pedals for Mini Rookie EV ¥40,100 ¥44,110
C |0010.00B2 #iti° -y Mk - MOK-KZ Support for adjustable footrest ¥9,700 ¥10,670
D |0010.00B2A #iti® - b7y M - bAN® =4-/MINI 2mm Support for adjustable footrest 2 mm ¥1,200 ¥1,320
E (0010.00B2B #iti° -7y M - FAN® ~4-/MINI 5mm Support for adjustable footrest 5 mm ¥1,500 ¥1,650
F  ]0010.00B3 7y Mpil° =PAN® =#- 10mm Spacer 10 mm ¥1,100 ¥1,210
G (0010.00B4 7y Mik° =PAN® =4~ 5mm Spacer 5 mm ¥940 ¥1,034
H [0010.00EB6DX  [t-J74-7°L-I MINIR Safety plate for Mini Kart rudder pedals 132,5 mm DX ¥5,000 ¥5,500
I |0010.00EB6SX  [t-774-7°L-P MINIL Safety plate for Mini Kart rudder pedals 132,5 mm SX ¥5,000 ¥5,500
J  [0010.00E3 7hENayH7° b~ MINI Accelerator locking plate for Mini Kart rudder pedals ¥5,000 ¥5,500
K {0010.00E5 A5 )77 931 MINI Bush for Mini Kart rudder pedals ¥490 ¥539
L  |0010.00EA1 N°5* \Hik° - MINI Mini Kart rudder pedals support ¥2,400 ¥2.640
M |0010.00EA2 FHEIN° 5 7° b~ MINI Accelerator pedal plate for Mini Kart rudder pedals ¥2,400 ¥2,640
N  [0010.00EA3 7 b=$A°5"7° V- MINI Braking pedal plate for Mini Kart rudder pedals ¥3,500 ¥3,850
0 |0010.00EA6 t-774-7°V-p MINI Safety plate for Mini Kart rudder pedals ¥3,800 ¥4,180
P  |0016.FE A°5°)27°Y55" MINI rudder Mini rudder pedal's spring ¥2,100 ¥2.310
Q [0017.001 N°5* ), ADY1-2A° -%- NEOS/ROOKIE EV Pedal screw spacer ¥1,300 ¥1,430
R (0118.200 YA9-5Y58" -0yp" 200 mm Brake pump control rod L.200 mm ¥3,200 ¥3,520
S [0118.240 YA9-5Y589" -0yp" 240 mm Brake pump control rod L.240 mm ¥3,200 ¥3,520
W (0226.01 Y77 b-$3vYN° -Hifi° - bAN° Y- ROOKIE Bush spacer ¥840 ¥924
X |D.M6 Fyh M6 Nut M6 ¥10 ¥11
Y |p.meAsB. EAI0y5Fy M6 (F40) A.B. nut M6 ¥20 ¥22
Z |D.MsAB. oysryime (+40) A.B. nut M8 ¥30 ¥33
AA |RP.6X11 7y3v- D.6x11x1,5mm Washer @ 6,4x11x1,5 mm ¥10 ¥11
AB |R.P.8X12 793¢~ D.8x12 Washer @ 8x12x2 mm ¥10 ¥11
AC |V.TB6X30 i 49291~ 6x30 TB screw 6x30 mm ¥90 ¥99
AD |V.TB6X35 i 9YAIY1- 6x35 TB screw 6x35 mm ¥90 ¥99
AE  [V.TCE6X40 Fry2° ik bb 6x40 TCEI screw 6x40 mm ¥50 ¥55
AF  [V.TCE6X45 $ry7°ik* b b 6x45 TCEI screw 6x45 mm ¥60 ¥66
AG |V.TCE6X50 Fry7° il hb 6x50 TCEI screw 6x50 mm ¥70 ¥77
AH |V.TCE8X45 Fry7°i* b b 8x45 TCEI screw 8x45 mm ¥90 ¥99




Sk

K ART PARTS

T 14 PEDALIERA ARRETRATA MINI CIK-FIA
av. MINI CIK-FIA RUDDER PEDALS

30 In vigore dal - Effective from 01-08-2022 -]<




@ | | K OTK KART JAPAN PRICE LIST

KART JAPAN 2025/2/1~

MINI CIK-FIA RUDDER PEDALS

Description
A |0010.00FKIT OTK 39" -A° 5" JAL.KIT MINI 2020 Complete rudder pedals for Mini CIK-FIA ¥73,500 ¥80,850
B |0010.00F1 35" =5 )y #ifi° - MMINI Rudder pedals support Mini CIK-FIA forged ¥21,400 ¥23,540
C |0010.00G2 39°-N°5* 7y} 2019 Rudder pedal foot OK-KZ forged ¥8,200 ¥9,020
D (0010.00G4 39°-N°5* V79 bATYH- 2019 Anti-slip Sticker ¥560 ¥616
E |0014.00F3 FHEIN 5 Wil -N35" - 5 ) Accelerator pedal support Mini CIK-FIA rudder pedals ¥16,100 ¥17,710
F  [0214.E0 PoennyEuy” 7°b-b-35"-N5" ) Accelerator locking plate for Mini CIK-FIA rudder pedals ¥2,900 ¥3,190
G |0014.00F5 FOEMN G NAN Y=135"-N° 5" )} Accelerator pedal spacer for Mini CIK-FIA rudder pedals ¥1,300 ¥1,430
H |0015.00F3 7 b=30° 5 Wil - MF5" -n° 5% ) Brake pedal support for Mini CIK-FIA rudder pedals ¥16,200 ¥17,820
I |0016.FAB ORI 5 WAI° VD 13597 -5 )y Accelerator Pedal spring for Mini CIK-FIA rudder pedals ¥3,600 ¥3,960
J  |0016.FBB T =$n° 5 NAT° YUY 159 =N 5 Brake pedal spring for Mini CIK-FIA rudder pedals ¥3,600 ¥3,960
K [0017.B0 A°5* ),ADY1-/SHORT NEOS/ROOKIE EV Pedal screw Neos - Rookie EV ¥2,900 ¥3,190
L  |0010.00B4 7y Mfik° =bAN® =~ 5mm Spacer 5 mm ¥940 ¥1,034
M |0010.00B2B #iti° -7y M - FAN® =4 -/MINI 5mm Support for adjustable footrest 5 mm ¥1,500 ¥1,650
N  [0118.200A YA9-Y54" -1y po-p0yh" 200mm Brake pump bent control rod L.200 mm ¥4,900 ¥5,390
0 [0118.240A YA9-5Y58" -1y ba-p0y b 240mm Brake pump bent control rod L.240 mm ¥4,900 ¥5,390
P |D.M6 Fyh M6 Nut M6 ¥10 ¥11
Q |D.MBAA. 0y73yM8 (F40))E AA. nut M8 ¥30 ¥33
R [D.M8AB. oysryime (+40) A.B. nut M8 ¥30 ¥33
S |[RE® A2°U5" 9939- D.6X12 Spring washer @ 6 mm ¥20 ¥22
T |RP.8X12 793¢~ D.8x12 Washer @ 8x12x2 mm ¥10 ¥11
U |RP.8X17X3 95— D.8x17x3 Washer @ 8x17 mm ¥40 ¥44
vV  (0010.00CB5 35" =N° 5" VIySv- Rudder pedals countersunk washer ¥410 ¥451
W |V.TB6X20 " 9YA9Y1- 6x20 TB screw 6x20 mm ¥80 ¥88
X  |V.TB6X30 i 4291~ 6x30 TB screw 6x30 mm ¥90 ¥99
Y [v.TB8X30 452991~ 8x20 TB screw 8x30 mm ¥120 ¥132
Z |V.TCE6X40 Fry7° ik bb 6x40 TCEI screw 6x40 mm ¥50 ¥55
Z |V.TCE6X45 Fry7° ik b 6x45 TCEI screw 6x45 mm ¥60 ¥66
AA  |V.TPSCEI6X55 (47" hb 6x55 TPSCEI screw 6x55 mm ¥80 ¥88




K ART PARTS

SEDILI

= 4
</

GJOF =

G, @
F Eo,,‘ C

32 In vigore dal - Effective from 01-08-2022 -]<




OTK KART JAPAN PRICE LIST
2025/2/1~

=2Ark

K& AT JAFPAN

SEATS
Description

A |0037.FP 5-PI7Y M bh (OK-KZ) Flat bottom seat - size 1° ¥29,200 ¥32,120
A |0037.FP 5-PI79 N bh (OK-KZ) Flat bottom seat - size 2° ¥29,200 ¥32,120
A |0037.FP 5-PI7Y M bh (OK-KZ) Flat bottom seat - size 3° ¥29,200 ¥32,120
A |0037.FP I=MI5Y M bh (OK-KZ) Flat bottom seat - size 4° ¥29,200 ¥32,120
A |0037.D0 I=FIFYME ba 5T 12794 Flat bottom seat - size Junior ¥26,300 ¥28,930
A |0037.D0 I-FIFYM I ba 5T 127947 Flat bottom seat - size Junior S ¥26,300 ¥28,930
A |0037.D0 I=F279 " ba (MINI) Flat Bottom Mini seat - size 1° ¥26,300 ¥28,930
A |0037.D0 I=F279 " ba (MINI) Flat Bottom Mini seat - size 2° ¥26,300 ¥28,930
B  |0037.E0 I=p59Y0 " b (MICRO) Micro seat - size 1° ¥24,800 ¥27,280
C  |V.TPSCEI8X25 $3ik b b 8x25 TPSCEI screw 8x25 mm ¥70 ¥T77
D |V.TPSCEI8X55 #3ik" )b b 8x55 TPSCEI screw 8x55 mm ¥170 ¥187
E |0087.00 y-hOt"yhIYSv- M8/3407 (RED) Seat washer @ 8 mm Red ¥160 ¥176
E |0087.00N y=-hot"ybIYSr- M8/F40Y (Black) Seat washer @ 8 mm Black ¥160 ¥176
F |RP.8X17 793¢~ D.8x17 Washer @ 8x17 mm ¥20 ¥22
G |D.MBAA. D5y iM8 (H0Y)E AA. nut M8 ¥30 ¥33

R.P.10X30X2,5 7y5¥- D.10x30x2.5 Washer @ 10x30x2,5 mm ¥50 ¥55
I |V.TB6X15 i 9YAIY1- 6x15 TB screw 6x15 mm ¥50 ¥55
J |RP.6X18 Jy¥- D.6x18 Washer @ 6x18x1 mm ¥10 ¥11
K |D.M6AB. EAI0y5Fy M6 (F407) A.B. nut M6 ¥20 ¥22

0090.B0 y-hot yhIySv- MS/ALU AL Washer @ 8x30x2 mm ¥410 ¥451




K ART PARTS

SSPPIN sUPPORTI SEDILE
CAARLCN SEAT SUPPORTS

34 In vigore dal - Effective from 01-08-2022 g




=2Ark

K& AT JAFPAN

OTK KART JAPAN PRICE LIST

2025/2/1~

SEAT SUPPORTS
Description

A |0006.280 I-Mi° b 280mm Additional seat support L. 280 mm ¥3,900 ¥4,290
B (0006.300 I-Mi°-p 300mm Additional seat support L. 300 mm ¥3,900 ¥4,290
C |0006.320 I-Mi°-p 320mm Additional seat support L. 320 mm ¥3,900 ¥4,290
D (0006.340 y-Mif°-p 340mm Additional seat support L. 340 mm ¥3,900 ¥4,290
E [0006.380 I-Mi°-p 380mm Additional seat support L. 380 mm ¥3,900 ¥4,290
F  [0006.400 I-Mil° b 400mm Additional seat support L. 400 mm ¥3,900 ¥4,290
G (0007.300B y-Miti°-p 2 BENT 300mm/KZ/R seat support L. 300 mm with 2 bends - for KZ right ¥4,400 ¥4,840
H |0007.340 y-Mili° -p BENT 340mm Bent additional seat support L. 340 mm ¥4,200 ¥4,620
1 0007.320 I-Mii® - BENT 320mm/MAX/ROK Right bent additional seat support L. 320 mm Rok ¥4,200 ¥4,620
J  0007.320B y-Miti°~p 2 BENT 320mm Additional seat support L. 320 mm with 2 bends ¥4,400 ¥4,840
K [0237.A0 9397° By-Mif° -p Dismountable seat support ¥4,600 ¥5,060
L [0259.80 #ii°-M577° D.28 Locker @ 28 mm for AL dismountable seat support ¥14,500 ¥15,950
L [0259.A0 #ii°-M777° D.30 Locker @ 30 mm for AL dismountable seat support ¥14,500 ¥15,950
M [V.TCE6X25 Fry7°i” hb 6x25 TCEI screw 6x25 mm ¥40 ¥44
N  |0239.0A UI74=-25-b7°b-b Small seat stiffener-plate ¥670 ¥737
0 |0239.00 U-371-25-p2° V- (BIG) Big seat stiffener-plate ¥730 ¥803
P [0239.A0 19A79930y-Mik° - Seat support extension-plate ¥3,300 ¥3,630
Q |0006.BODXKIT  [OTK 7" #97° hy-Mik° - b (R) Complete right additional adjustable seat support ¥19,000 ¥20,900
R [0006.BOSXKIT  |OTK 75" vA97" hy-Mili°-p (L) Complete left additional adjustable seat support ¥19,000 ¥20,900
S [0006.B1 OTK 75" tA97° ho—-MHf° b 3 34 b Threaded pin for adjustable seat support ¥4,800 ¥5,280
T [0006.B2 OTK 75" ¥297" hy-Mjik°-b Fyb (RES™) Right nut M14 x 2 for adjustable seat sup-port ¥900 ¥990
U [0006.B3 OTK 75" vA97° h-Mfik°-p Fyb (L2™) Left nut M14 x 2 for adjustable seat support ¥900 ¥990
V  |0006.B4 OTK 75" ¥297" hy-Mpik°=p (PyN°-) Adjustable support fastened to the seat ¥4,500 ¥4,950
W  |0006.B5A OTK 75" vA97" hy-Mfik°-p (R/D7) Right support fastened to the bearing carrier support ¥6,500 ¥7,150
X  |0006.B6B 75 vA97° hy-MEC - 77 5h (R) BRET Small platefor right adjustable seat support ¥2,400 ¥2,640
Y |0006.B5C 75" vA97° Wy-Miie -+ (L/O7) Left support fastenedto the bearing carrier support ¥6,500 ¥7,150
Z (0006.B6C 75" vA97° Wy-MEC - 77 5hh (L) BR4T Small plate for left adjustable seat support ¥2,400 ¥2,640




PARTS

K ART

SUPPORTI SEDILE
SEAT SUPPORTS

Tav. 16b

=]
<
z
=

In vigore dal - Effective from 01-08-2022

36




=2Ark

K& AT JAFPAN

OTK KART JAPAN PRICE LIST

2025/2/1~

SEAT SUPPORTS

Description
A1 [0237.CO Joyby-Mike - 42mm  (§§£9%) Front seat support Kit for DD2 - KZ - OK ¥2,500 ¥2,750
A2 [0237.BA J0uby-Mik° - 24mm  (4#77%) Front seat support L. 24 mm ¥2,600 ¥2.860
A3 |0237.BAA Jouby-Mike - 42mm  (#7%) Front seat support L. 42 mm ¥2,600 ¥2.860
B |V.TCE6X45 Fry2° ik b 6x45 TCEI screw 6x45 mm ¥60 ¥66
C |R.P.6X12 J9v- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
D |D.M6AB. EAI09Fy M6 (F407) A.B. nut M6 ¥20 ¥22
E  |0242.BAKIT y-Mif° -MF MICRO Front support kit for Micro seat ¥7,900 ¥8,690
F  |0242.BBKIT y-Mi°-MR MICRO Rear support kit for Micro seat ¥11,500 ¥12,650
G |0242.COKIT - Ml ~MF MINI KID Front seat support Kit for Mini Kid ¥11,500 ¥12,650
H |0242.C6 I=-Mili°~MR MINI KID Rear seat support Kit for Mini Kid ¥10,100 ¥11,110




PARTS

K ART

PIASTRE MOTORE
ENGINE MOUNTS

Tav. 17

In vigore dal - Effective from 01-08-2022

38




=2Ark

K& AT JAFPAN

ENGINE MOUNTS

OTK KART JAPAN PRICE LIST

2025/2/1~

Description
A |0038.D0D 1YY" U397k MG 92x30mm Inclined MG engine mount 92x30 mm ¥29,400 ¥32,340
A |0038.DODF 1YY" IR9Yh MG 92x30mm /INHE Inclined MG engine mount 92x30 mm drilled ¥30,800 ¥33,880
B  [0038.DACF YY" Y397k MG 92x30mm OK-DST Inclined MG engine mount 92x30 mm OK ¥30,800 ¥33,880
C  |0038.DOEF 7395 I397 MG 92x30mm OK-DVS-X30 Flat MG engine mount 92x30 mm OK - DVS - X30 ¥30,800 ¥33,880
D |0038.A0 IV¥" 9V AL 92x28mm hy MPI3) Inclined AL engine mount 92x28 mm ¥15,500 ¥17,050
D (0038.A0F 1YY" IR9Yb AL 92x28mm hyMPN3)INHE Inclined AL engine mount 92x28 mm drilled ¥16,600 ¥18,260
E |0038.R28 J79MLYS" X9V AL 92x28mm Flat AL engine mount 92x28 mm Rok ¥16,100 ¥17,710
E |0038.R30 7395 39V b AL 92x30mm Flat AL engine mount 92x30 mm Rok ¥16,100 ¥17,710
E |0038.R32 J79MLYS" X9V AL 92x32mm Flat AL engine mount 92x32 mm Rok ¥16,100 ¥17,710
F|0038.AB 15" Y397 b AL 92x28mm MINI-MINI KID Engine mount AL Mini / Mini Kid drilled ¥15300]  ¥16,830
H [0038.D0A1 1YY" Y9I AN -4~ 8mm DD2 DD2 engine mount spacer 8 mm ¥5,500 ¥6,050
I |0038.D0A5 1YY" Y9I AN -4~ 21mm/D.30 DD2 AL DD2 engine mount spacer 21 mm @30 mm ¥5,500 ¥6,050
J  [0039.AA28A I R9IMI 35y b 92x28mm Y5200 AL engine mount bracket 1 screw 92x28 mm ¥4,600 ¥5,060
J  [0039.AA30A I35 998" 35y b 92x30mm Y527 AL engine mount bracket 1 screw 92x30 mm ¥4,600 ¥5,060
K  [0039.VA30A )Y ORIV 35y 92x30 9° 7 WADY1- XY20H° AL rear engine mount bracket 2 screws 92x30 mm ¥4,900 ¥5,390
L  |0039.v28 Y5 IRIUMI 559 92x28 §° 7 hADY 1~ AL engine mount bracket 2 screws 92x28 mm ¥4,600 ¥5,060
L |0039.v32 I)Y IRIUMI 55y b 92x32 5 77 WADY 1~ AL engine mount bracket 2 screws 92x32 mm ¥4,600 ¥5,060
M |0039.V28A S IXIVNI 3y 92x28 §° 7 AV 1~y b AL rear engine mount bracket 2 screws 92x28 mm ¥4,600 ¥5,060
M |0039.V32A )Y ORIV 35y 92x32 5° 77 ROV 1-Hy b AL rear engine mount bracket 2 screws 92x32 mm ¥4,600 ¥5,060
N |0039.AB28 I3 JX9787° 7y b MINI-MICRO engine mount bracket 1 screw 28 mm for Mini-Micro ¥3,700 ¥4,070
0 (0039.AB28A YPIY5" J¥9I87" 55y b MINI-MICRO rear engine mount bracket 1 screw 28 mm for Mini-Micro ¥3,700 ¥4,070
P  |0038.EA 79\°-7"559p MICRO(COMER) AL upper bracket for Micro Comer engine ¥6,900 ¥7,590
Q [0039.EA 07--7"39yhb MICRO(COMER) AL lower bracket for Micro Comer engine ¥5,200 ¥5720
R |V.TCE10X35 Fry7°il" b 10x35 TCEI screw 10x35 mm ¥120 ¥132
R  |V.TCE10X40 Fr97°i" b b 10x40 TCEIl screw 10x40 mm ¥120 ¥132
R |V.TCE10X50 Fry7°il" b 10x50 TCEI screw 10x50 mm ¥130 ¥143
S |V.TCE8X35 $ry7°i° b 8x35 TCEI screw 8x35 mm ¥30 ¥88
T [0110.B0 155" YAMN -A9Y1-/100cc M10 chain strecher for OK ¥1,500 ¥1,650
U [0110.A0 5" YAMN -A9Y1-M125¢cc M10 chain strecher for KZ ¥1,800 ¥1,980
vV |0109.B0A 155" YAMN -A9Y1-/125¢cc Long M10x50 mm long chain strecher ¥1,500 ¥1,650
W |0109.BB )9 YAMN° -[125¢cc AL support for M10 chain strecher ¥4,600 ¥5,060




K ART PARTS

PARACATENA
IEVAREES (L AIN GUARDS

40 In vigore dal - Effective from 01-08-2022




@ | | K OTK KART JAPAN PRICE LIST

KART JAPAN 2025/2/1~

CHAIN GUARDS

Description
A |0042.CBKIT TN -F1-Ih" - M KIT(UMYE® -4l - ) Complete integral chain guard kit ¥18,900 ¥20,790
B |0042.CA VBN =F1-I8" -p" ONLY Integral chain guard ¥10,700 ¥11,770
C  (0041.00 AN-MI-U -0 “Stripe type” chain guard ¥1,100 ¥1,210
D |0042.00 F1-yh"-p" TYPE-B Chain guard with pinion protection ¥2,600 ¥2.860
E |0043.C0 IVB=F1-Ih" =P #ili=b (1) One pieces Integral chain guard support Mini ¥1,700 ¥1,870
F  [0043.00 VBN -F1-Ih" - HiKi® -MUMIVE® -2) One pieces Integral chain guard support ¥3,800 ¥4,180
G |0043.c1 OTK JNAN" -F1-Ib" =M #ili® - My v- Fixing bush for integral chain guard ¥680 ¥748
H [|V.TB6X16 i 4291~ 6x16 TB screw 6x16 mm ¥50 ¥55
I [RP.6X18 J95v- D.6x18 Washer @ 6x18x1 mm ¥10 ¥11
J |p.meAB. VY5 M6 (F40) AB. nut M6 ¥20 ¥22
K |0086.001 F1-Ih" -0 AN -4- Spacer busher ¥670 ¥737
L [0043.00 F1-ub"-p Hik° - 130mm Chain guard support L.130 mm ¥2,500 ¥2.750
M |0043.0A F1-uh" - il - 90mm Chain guard support L.90 mm ¥2,500 ¥2,750
N  |0043.A0 F1-Ih" -p Hik° - 125¢cc Chain guard support L.130 mm for chassis with gear shift ¥2,100 ¥2.310




PARTS

K ART

STUB AXLES

FUSELLI

Tav. 19

=
I
)
=
-
=

In vigore dal - Effective from 01-08-2022

42




=2Ark

K& AT JAFPAN

OTK KART JAPAN PRICE LIST

2025/2/1~

STUB AXLES
Description
A |0092.E0DXKIT F99 MICRO/R Right Micro stub axle with bearings ¥22,000 ¥24,200
A [0092.E0SXKIT F99l MICRO/L Left Micro stub axle with bearings ¥22,000 ¥24,200
B  (0092.00BDXKIT (F¥/l BST/R ROOKIE/D8 Right BST stub axle with bearings ¥24,400 ¥26,840
B  [0092.00BSXKIT (94} BST/L ROOKIE /D8 Left BST stub axle with bearings ¥24,400 ¥26,840
C  |0092.00CDXKIT  [Fwi HSTR Right HST SA2-BSD stub axle with bearings ¥30,200]  ¥33220
C  [0092.00CSXKIT (92l HSTIL Left HST SA2-BSD stub axle with bearings ¥30,200 ¥33,220
C  [0092.00CBDXKIT (#y) HSTIR1B Right HST 1B SA2 stub axle with bearings ¥30,200 ¥33,220
C  [0092.00CBSXKIT (F¥2) HSTIL 1B Left HST 1B SA2 stub axle with bearings ¥30,200 ¥33,220
D  (0092.00BCLDXKIT [#%4) MSHL/R ROOKIE EV D.8 Right Mini MSHL stub axle with bearings ¥25,700 ¥28,270
D |0092.00BCLSXKIT [#9J)k MSHL/L ROOKIE EV D.8 Left Mini MSHL stub axle with bearings ¥25,700 ¥28,270
E  [0092.B0EDXKIT |f9J) BSS-KZR Right BSS KZ stub axle with bearings ¥38,300)  w42,130
E |0092.BOESXKIT |39J) BSS-KZIL Left BSS KZ stub axle with bearings ¥38,300 ¥42,130
E  |0092.B0EBDXKIT |}99) BSS-KZIR 1B Right 1B BSS stub axle with bearings ¥38,300)  w42,130
E |0092.BOEBSXKIT |3yJ) BSS-KZIL 1B Left 1B BSS stub axle with bearings ¥38,300 ¥42,130
F  (0019.00 FyHM*7U55" D.8x22 (608Z2) Stub axle bearing @ 8x22 mm ¥420 ¥462
G [0019.A0 FyH* 755" D.10x26 (6000Z2) Stub axle bearing @ 10x26 mm ¥640 ¥704
H |0020.00 FYIIN"PYSD° An° -4- BST (BR1T) Bearing spacer for @ 8x24 mm stub axle ¥1,100 ¥1,210
I [0020.CO FYIIN"PUST" AN —4—- HST Bearing spacer for @ 10 mm stub axle ¥1,100 ¥1,210
J  [0021.00 HMIAN -4 @17/5mm BST wheel spacer 5 mm ¥610 ¥671
K [0022.00 AN -4~ @17/10mm BST wheel spacer 10 mm ¥810 ¥891
L |0021.c0 VAN -%- 5mm HST HST wheel spacer 5 mm ¥830 ¥913
M |0022.C0 #4 AN -4~ 15mm HST HST wheel spacer 15 mm ¥880 ¥968
N  [0023.D0 FYINIYN D9S¥- HST Locking spacer for HST stub axle ¥880 ¥968
(0] D.M14X1,5 FyohFy14x1.5 A.B. nut M14x1,5 mm ¥120 ¥132
P |0021.A0 VAN == @17/5mm/ Pl BST Radiate wheel spacer 5 mm ¥710 ¥781
Q [0021.CA JOYPI* b-%7" 129AN° -4- BSS/2BG 1mm HST wheel spacer 1 mm for 2 bearings BSS disk hub ¥1,300 ¥1,430
R [0022.cA VAN -4~ 10mm HST BSS wheel spacer 10 mm ¥860 ¥946
S [0092.00KIT FYINIOATI93Y7° b-b KIT Kit extension stub axle's plate ¥11,300 ¥12,430




Y BOCCOLE FUSELLO
av. STUB AXLE BUSHES

K

i

O.

ol

Or
@

D

K

44

In vigore dal - Effective from 01-08-2022




OTK KART JAPAN PRICE LIST
2025/2/1~

=2Ark

K& AT JAFPAN

STUB AXLE'S BUSHES

Description
A 0212.00 FYIh7" 991 D12 STUB AXLE BUSH D.12 mm ¥2,500 ¥2,750
B |0211.A0KIT FYINPFAAIP5" vAM D.22-8 BSTIKIT Complete eccentric bush @ 22 - 8 mm ¥12,700 ¥13,970
C [0212.A0KIT FYINPFAIIP5" vAM £59-D.22-8 BSTIKIT Complete bush @ 22 - 8 mm ¥12,700 ¥13,970
D1 |0211.DOKIT FYINPFAAIP5" ¥AD D.22-10 HST/KIT Complete HST eccentric bush @ 22 - 10 mm ¥15,700 ¥17,270
D2 [0211.AAKIT FYINPFAAIP5" vAM D.22-8 KIT Complete eccentric bush @ 22 - 8 mm ¥16,100 ¥17,710
E1  |0212.DOKIT FYINPFARIMPS" vAM £59-D.22-10 HST/KIT Complete HST bush @22 - 10 mm ¥15,700 ¥17,270
F [0018.A0 $59°E° Y 8x90 BST stub axle screw 8x90 mm ¥1,300 ¥1,430
F  |0018.A0F Drilled BST stub axle screw 8x30 mm
G (0215.00 F9INAN° -#- O8x24x4mm BST(Rookie) BST stub axle spacer @ 8x24x4 mm ¥940 ¥1,034
H |R.P.8X17X3 J95¥- D.8x17x3 Washer @ 8x17 mm ¥40 ¥44
I |D.MSAA. D5y iM8 (H0Y)E AA. nut M8 ¥30 ¥33
J  |0211.A4 FYINPFAAINPS" AN H5- BST/Tmm Washer @ 8x7mm for bush @ 22 - 8 mm ¥440 ¥484
K [V.TCEX3X10 FYINPTARIMEYTH” Wb 3X10 Inox TCEI screw 3x10 mm ¥0
L |0211.D4 FYINPFAAIINPS" 9D 7 9919957-10x4.5 HST Washer @ 10x4,5 mm ¥840 ¥924
M [0215.CB FYINAN° 4= 24x10x3mm HST/08~ HST stub axle spacer @ 10x24x3 mm ¥940 ¥1,034
N [0018.c0 $59°E°Y 10x90 HST stub axle screw 10x90 mm ¥1,500 ¥1,650
N |0018.COF Drilled HST stub axle screw 10x90 mm
0 [Dm10AA. 0y5F9 M10(340Y) AA. nut M10 ¥60 ¥66
P |RP.8X12 793¢~ D.8x12 Washer @ 8x12x2 mm ¥10 ¥11
0255.00 Spring for drilled screws




n
_I
18
g
1R
—I
18
q
Y
=
)
RS
= o
22D
< I
-
= B
UH
z3S
=
Nz
o2
Sx
(o |
(]
3
[

In vigore dal - Effective from 01-08-2022

46




@ | | K OTK KART JAPAN PRICE LIST

KART JAPAN 2025/2/1~

FRONT WHEEL HUBS

Description

A 10103.COCKIT 707M7* HST/IMAG/80mm/COMP Complete HST MG hub L.80 mm ¥27,800 ¥30,580
B (0103.COEKIT 707 7" HST/IMAG/95mm/COMP Complete HST MG hub L.95 mm ¥30,000 ¥33,000
B (0103.CODKIT 707M7* HST/IMAG/110mm/COMP Complete HST MG hub L.110 mm ¥30,500 ¥33,550
C  |0103.GGKIT 707 MW7 INICOMP/BSS-KZ/LONG90/MAG Complete BSS-SA3 MG hub L.90 mm ¥38,300 ¥42,130
D  [0103.COAKIT J07M7* BST/IMAG/55mm/COMP Complete BST MG hub L.60 mm ¥22,000 ¥24,200
D [0103.COBKIT J07M7" BST/IMAG/70mm/COMP Complete BST MG hub L.75 mm ¥22,000 ¥24,200
E  [0103.COKIT J07M7* BSTIMAG/90mm/COMP Complete BST MG hub L.95 mm ¥22,000 ¥24,200
F  [0103.FOCKIT 707M 7" NEOS/ROOKIE EV/ALU/48mm/COMP Complete BST AL hub L.53 mm ¥16,100 ¥17,710
F |o103.FoAKIT JOYMJ* BST/ALU/55mm/COMP Complete BST AL hub L.60 mm ¥15300)  ¥16,830
G |0103.FoBKIT JOYMI* BST/ALU/70mm/COMP Complete BST AL hub L.75 mm ¥16,600|  ¥18.260
I 0024.8A JOYMIS N PYSS® 25-42x12 (690522) Hub bearing @ 25/42x12 mm ¥2,700 ¥2,970

0024.00 WA PUYY D.17-35 (600322) Hub bearing @ 17-35 mm ¥840 ¥924
J  |0024.A0 HIA PYYD* D.17-30(6903Z)NEOS/ROOKIE EV Wheel's bearing D.17-30 ¥1,300 ¥1,430
L |0023.cB 0T N PYS AN -§- 30mm/HST Bearings spacer for HST MG hub ¥1,300 ¥1,430
M {0045.00 ANRIYM b M Wheel stud ¥240 ¥264
N  |0044.B0 MINT Dy1y b Wheel hexagonal self-locking nut ¥200 ¥220
0 |0125.00 MNT N -4-Uyh* Spacer ring for HST wheel hub ¥1,300 ¥1,430




K ART PARTS

T 22 MOZZI RUOTA POSTERIORI
av. REAR WHEEL HUBS

48 In vigore dal - Effective from 01-08-2022 E




OTK KART JAPAN PRICE LIST
2025/2/1~

=2Ark

K& AT JAFPAN

REAR WHEEL HUBS

Description
A |0046.C0C ifiW\J" AL/D.25x32 AL wheel hub @ 25x37 mm ¥15,200 ¥16,720
C |0046.00C ifi{W\7" AL/D.30x32 ROOKIE EV AL wheel hub @ 30x37 mm ¥15,200 ¥16,720
B [0053.C0A iiMW\7" ALUID.25x80(LONG) AL wheel hub @ 25x84 mm ¥17,700 ¥19,470
D [0053.B0A ii{W\7" ALU/D.30x80(LONG) AL wheel hub @ 30x84 mm ¥17,700 ¥19,470
E [0053.A0 ifW\J" MAG/D.40x87 MG wheel hub @ 40x92 mm ¥30,500 ¥33,550
F  |0046.E0 iiW\7" MAG/D.50x72 MG wheel hub @ 50x77 mm ¥27,300 ¥30,030
G  |0053.E0 iiMW\J" MAG/D.50x87 MG wheel hub @ 50x92 mm ¥28,600 ¥31,460
H |0053.EA ifiW\7" MAG/D.50x110 MG wheel hub @ 50x115 mm ¥38,300 ¥42,130
| 0053.F0 ifW\7" MAG/D.50x140 MG wheel hub @ 50x148 mm ¥40,900 ¥44,990
J |RP.8X12 Jy¥- D.8x12 Washer @ 8x12x2 mm ¥10 ¥11
K |V.TCE8X30 $ry7°ik bb 8x30 TCEI screw 8x30 mm ¥70 ¥77
L [V.TCE8X35 $ry7°i° Wb 8x35 TCEI screw 8x35 mm ¥30 ¥88
M [V.TCE8X40 Fry2° ik bb 8x40 TCEI screw 8x40 mm ¥80 ¥88
N  |0045.00 ANA9YM i b M8 Wheel stud ¥240 ¥264
O |0045.A0 VA5 MK b M8 SHORT Wheel stud short ¥240 ¥264
P  |0044.B0 TMIWNT Dy1y b Wheel hexagonal self-locking nut ¥200 ¥220




0
-
is
q
o

K ART

MOZZl PORTACORONA

SPROCKET HUBS

Tav. 23

In vigore dal - Effective from 01-08-2022

50




=2Ark

K& AT JAFPAN

SPROCKET HUBS

Description

OTK KART JAPAN PRICE LIST
2025/2/1~

A [0047.COA A7°09yMJ" ALID.25 AL sprocket’s hub @ 25 mm ¥24,100 ¥26,510
B  |0047.B0A A7°09y M7 ALID.30 AL sprocket’s hub @ 30 mm ¥24,100 ¥26,510
C |0047.DB MG sprocket’s hub @ 40 mm

D [0047.FA A7° 059" MAG/D.50/225Y1- Sprocket hub double connection ¥30,500 ¥33,550
F |RP.8X12 793y~ D.8x12 Washer @ 8x12x2 mm ¥10 ¥11
G [R.P.6X11 99— D.6x11x1,5mm Washer @ 6,4x11x1,5 mm ¥10 ¥11
H |V.TCESX40 Fry)° ik bb 8x40 TCEI screw 8x40 mm ¥80 ¥88
I [V.TCE6X30 Fry7°ik bb 6x30 TCEI screw 6x30 mm ¥40 ¥44




0
-
is
q
o

K ART

MOZZI DISCO FRENO
BRAKE DISK HUBS

Tav. 24

In vigore dal - Effective from 01-08-2022

52




=2Ark

K& AT JAFPAN

BRAKE DISK HUB

OTK KART JAPAN PRICE LIST

2025/2/1~

Description

A |0052.00C 7 b-37"4A9N7" ALUID.25 AL disk's hub @ 25 mm for Rookie brake disk ¥17,100 ¥18,810
B  [0052.A0C 7°b-47" 1297 BSM-BSM4 ALU/D.30 AL disk's hub @ 30 mm for Rookie brake disk ¥17,100 ¥18,810
C |0052.DC 7 =37 4A917" 206-16mm MAG/D.40 MG disk’s hub @ 40 mm for brake disk @ 206x16 mm ¥29,700 ¥32,670
D [0052.DB MG disk’s hub @ 40 mm for brake disk @ 206

E |0052.DA 7°b=37"429N7" 180mm MAG/D.40 MG disk’s hub @ 40 mm for brake disk @ 180 mm ¥25,700 ¥28,270
F  [0052.EC 7 b-$5"429N7" 206-16mm MAG/D.50/¥f BY MG disk’s hub @ 50 mm for brake disk @ 206x16 mm ¥30,200 ¥33,220
G  [0052.EA 7°b=37"42917" 180mm MAG/D.50 MG disk’s hub @ 50mm for brake disk @ 180 mm ¥24,900 ¥27,390
H  [0103.GACKIT J0yh5 42907 BSS/ICOMP Complete BSS front disk’s hub ¥35,300 ¥38,830
I |0024.B0 JOYMI N PYSD 25-42%9 Wheel's bearing @ 25/42x9 mm ¥1,900 ¥2,090
J  ]0103.G2 =" -0y 1AINT* Seeger for disk’s hub ¥110 ¥121
K |R.P.8X12 793y~ D.8x12 Washer @ 8x12x2 mm ¥10 ¥11
L  [V.TCE8X40 Fry7° ik bb 8x40 TCEI screw 8x40 mm ¥80 ¥88
M  [V.TCE8X35 Fry7° ik b 8x35 TCEI screw 8x35 mm ¥30 ¥88




K ART PARTS

DISCHI FRENO
LEVAYSI R AKE DISKS

54 In vigore dal - Effective from 01-08-2022 -]<




=2Ark

K & AT

J & P AN

OTK KART JAPAN PRICE LIST
2025/2/1~

BRAKE DISKS
Description

A [0051.E0A Y77°b-47" 429 MICRO 170mm Micro rear brake disk @ 170 mm ¥20,100 ¥22,110
B  [0051.EF U77"b-$7" 129 BSM4 160-10mm Mini EV rear brake disk @ 160x10 mm ¥30,500 ¥33,550
C |0051.ED V77" b-$7" 120 BSM Rookie - Mini Kid - Mini Neos rear brake disk @ 180 mm ¥23,600 ¥25,960
D |0051.D0 Y77"b-47" 4129 D.180mm (BS4-6) Self-ventilated rear brake disk @ 180x13 mm ¥43,100 ¥47,410
E |0051.DC V77" b-47" 429 D.206-16mm/¥rBY Self-ventilated rear brake disk @ 206x16 mm ¥48,100 ¥52,910
G.D.AL30-160FL |7° V47" 1AYBSM4 160-10mm+70-74Y7" NJ*KIT Hub AL @ 30 mm + floating brake disk @ 160x10 mm ¥49.600(  ¥54,560
F  |o101.HoDX J0YR7° b-45" 420 BSS-KZ (R) Right front brake disk BSS KZ ¥34500)  ¥37,950
F  [0101.HOSX JoubI* b-37" 129 BSS-KZ (L) Left front brake disk BSS KZ ¥34,500 ¥37,950
G |0257.00KIT 7 {A9F07° 07953 KIT Protection kit for brake disk @ 206x16 mm OK ¥13,900 ¥15,290
G |0257.COKIT 7 4A9F407° 079937 KITIKZ Protection kit for brake disk @ 206x16 mm KZ ¥15,000 ¥16,500
G |0257.DOKIT 7 {A9+4027° 079937 KIT/DD2 Protection kit for brake disk @ 206x16 mm DD2 ¥15,000 ¥16,500
H [0257.01 7T AT DH Nylon protection for brake disk @ 206x16 mm Red ¥9,400 ¥10,340

H |0257.01N Nylon protection for brake disk @ 206x16 mm Black
I [0257.02 7 4AIH0Y7°0795357° -} Disk protection's fixing plate OK ¥4,200 ¥4,620
I |0257.C2 7 AIFH07° 0795397° V-MKZ Disk protection's fixing plate KZ ¥5,100 ¥5,610
I |0257.D2 7 4A9+407° 079%377° b-MDD2 Disk protection's fixing plate DD2 ¥5,100 ¥5,610
J  |V.TCE5X25 Fry7°il” hb 5x25 TCEI screw 5x25 mm ¥40 ¥44
K |V.TCE6X22 Fry7° il hb 6x22 TCEI screw 6x22 mm ¥40 ¥44
L [V.TCE6X25 Fry7°il b 6x25 TCEI screw 6x25 mm ¥40 ¥44
M  |V.TCE6X50 $ry7°ik bb 6x50 TCEI screw 6x50 mm ¥70 ¥77
N [V.TCER6X20 $ry7°i° b 6x20 LOW (J0VMJ" b-37"12BSSHA) TCEI Cut allen screw 6x20 mm ¥40 ¥44
0 |[RP.5X11 J93¥- D.5x11 Washer @ 5x11x1 mm ¥10 ¥11
P |[R.P.6X12 Jy3v- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
Q |RP.8X17X3 J9¥- D.8x17x3 Washer @ 8x17 mm ¥40 ¥44
Rif. |D.M5C 7 b-$5rUN°-£° vy M5 Metal self-locking nut M5 ¥30 ¥33
S [D.meC thonyory e Metal self-locking nut M6 ¥30 ¥33
T |D.MeAB. A7095F9 M6 (F40) A.B. nut M6 ¥20 ¥22
U ([D.msC N0y M8 (h54) Metal self-locking nut M8 ¥30 ¥33




K ART PARTS

CERCHI IN MAGNESIO

av. 26 MAGNESIUM WHEELS

B
-
@
i

MXJ

MXQ

MXC

MXC

56

In vigore dal - Effective from 01-08-2022




=2Ark

K& AT JAFPAN

MAGNESIUM WHEELS

OTK KART JAPAN PRICE LIST

2025/2/1~

Description
A |oo70.cop Y74l MXJ 210mm MG(5" 13¥AH) MG wheel MXJ 210 mm ¥19,000]  ¥20,900
B (0071.G0D 707 M MXJ 130mm MG(3" 13vAb) MG wheel MXJ 130 mm ¥17,600 ¥19,360
¢ |oor0.cc Y734l MXQ 210mm MG MG wheel MXQ 212 mm ¥33,400]  ¥36,740
D |0071.GC 707 M)k MXQ 130mm MG MG wheel MXQ 130 mm ¥29,400 ¥32,340
E [0070.CO Y7ik4)l MXC 210mm MG MG wheel MXC 210 mm ¥30,800 ¥33,880
F  [0071.G0 70 kil MXC 130mm MG MG wheel MXC 130 mm ¥26,800 ¥29,480
G |0070.E0 Y74l MXC 14Tmm MG (h7"yh) MG wheel MXC 147 mm ¥30,800 ¥33,880
H  |0071.Ho J0YME4b MXC 115mm MG (h7°yb) MG wheel MXC 115 mm ¥26,800|  ¥29.480




0
-
is
q
o

K ART

CERCHI IN ALLUMINIO
ALUMINIUM WHEELS

Tav. 27

o
>
<

In vigore dal - Effective from 01-08-2022

58



=2Ark

K& AT JAFPAN

ALUMINIUM WHEELS

OTK KART JAPAN PRICE LIST

2025/2/1~

Description

A |0070.80D YP#4) AXJ 145mm AL AL wheel AXJ 145 mm ¥13,800  ¥15,180
B  [0071.A0D 707 M)k AXJ 110mm AL AL wheel AXJ 110 mm ¥12,700 ¥13,970
C  (0070.00B AL wheel AXP 210 mm

D (0070.A0B J7if4)l AXPQ 180mm A AL wheel AXP 180 mm ¥14,700 ¥16,170
E 0071.D0B 707 M) AXPQ 130mm AL AL wheel AXP 130 mm ¥12,900 ¥14,190
F 0071.B0B 707 M) AXPQ 120mm AL AL wheel AXP 120 mm ¥12,900 ¥14,190
G |0070.80B AL wheel AXP 145 mm

H 0071.A0BKIT AL wheel AXP 110 mm with hub

1 [0024.00 WA PUYY D.17-35 (600322) Hub bearing @ 17-35 mm ¥840 ¥924
J  |0222.A0 OTK t*-PAMN° - Special screw for drilled wheel ¥340 ¥374
K |0222.B0 OTK 7° 54V £ -pAMN - Short special screw for drilled wheel ¥340 ¥374
L  [0223.A0 t*-PAMN =127 2018 OR 2018 ¥20 ¥22
M [0221.00 F1-7 VAN N7 005" Tubeless wheel's valve ¥420 ¥462
N |0221.A0 F1-7° VAN AI" 53— Tubeless wheel's short valve ¥420 ¥462




K ART PARTS

SPY SUPPORTI ASSALE
av. AXLE SUPPORTS

O y2/us U2/U3  u2/uU3

L

) §d

g‘@z

60 In vigore dal - Effective from 01-08-2022 -]<




OTK KART JAPAN PRICE LIST
2025/2/1~

=2Ark

K& AT JAFPAN

AXLE SUPPORTS

Description
A [0048.A2 Semiguscio cuscinetto assale @ 25 mm Axle's monocoque @ 25 mm ¥1,400 ¥1,540
B  [0048.FA Supporto assale @ 25 mm Mini Exp Axle's support @ 25 mm for Mini Exp ¥16,100 ¥17,710
C |0048.FB A 7YY5 9" - D.30 ROCKY/ROOKIE Axle's support @ 30 mm for Rookie - Mini - Nordix ¥16,100 ¥17,710
D |0048.FC N“PYY5° 9" - D.30 NEOS/ROOKIE EV Forged Axle's support @ 30 mm for Neos ¥23,500 ¥25,850
Axle's forged AL concentric support @ 40 - 50 mm 3
E  [0048.KDEBA N PYIT RN - £99-13P (M 547" ) position - central / right ¥29,100 ¥32,010
Axle's forged AL concentric support @ 40 - 50 mm 3
F  |0048.KDEBASX |n“ 7Yy iih8" - £Y5-I3P (7° b-+48) position - left ¥29100]  ¥32,010
Axle's forged AL concentric support @ 40 - 50 mm 3
G |0048.KDEBACE  |A“7YUYJ i#fil9* - £29-10K (H{Rl) position - central OK-OKJ ¥29,100 ¥32,010
Axle's forged AL misaligned support 5 mm @ 40 - 50 mm 3
H |0048.KDEBB N PYYT RN - A28y bsmm/3P (M 547" [HR{l) position - central / right ¥29,100 ¥32,010
Axle's forged AL misaligned support 5 mm @ 40 - 50 mm 3
I [0048.KDEBBSX (A" PUYY*ifihy" - A7ty 5mmi3P (7" L-+{Al) position - left ¥29,100 ¥32,010
Axle's forged AL misaligned support 10 mm @ 40 - 50 mm
J  [0048.KDEBC NS PYYSSENS* - 278y MOmm/3P (M 547" [FR{l) 3 position - central / right ¥29,100 ¥32,010
Axle's forged AL misaligned support 10 mm @ 40 - 50 mm
K |0048.KDEBCSX  |N“PUYY* 8"~ A7ty MOmmI3P (7° L-${1) 3 position - left ¥29100(  ¥32,010
L  |0048.KDEBBCE |A“7YYJ 9" - A7Fy5mm t9-/0K (HR{fll) Axle's forged AL misaligned support 5 mm central ¥29,100 ¥32,010
M |0048.KDEBCCE |A“PYYJ 9"~ £7EyMOmm t59-/0K (Hh{il) Axle's forged AL misaligned support 10 mm central ¥29,100 ¥32,010
Rear caliper's support for disk @ 180 mm (misaligned
N |0226.EB U77" b-$3vYN° -Hi° - 180mm BS6(A7tY P5mm) axle's support 5 mm) ¥17,700 ¥19,470
Rear caliper's support for disk @ 180 mm (misaligned
0 [0226.EC U77° b-$3+vYN° -Hili° - b 180mm BS6(A7tyMOmm) axle's support 10 mm) ¥17,700 ¥19,470
P  [0049.B0 I1IM PYS" D.25-50 Axle's bearing @ 25x50 mm ¥5,500 ¥6,050
Q |0049.BA S¥IMCTYY) D.25-60 Axle's bearing @ 25x60 mm ¥6,900 ¥7,590
R 10049.00 S¥IMC7YY)" D.30-60 Axle's bearing @ 30x60 mm ¥6,900 ¥7,590
S 0049.A0 S¥IMTYYY D.40-80 Axle's bearing @ 40x80 mm ¥8,400 ¥9,240
T [0049.DA I1IM PYSS" D.50-80 Axle's bearing @ 50x80 mm ¥10,000 ¥11,000
U1 ]0219.00 JHIM YIS 1E45" (D.50/80) Axle's locking bearing M8x1 mm ¥90 ¥99
U2 (0219.A0 IPIMPYYTTELRS™ MEx1mm Axle's locking bearing M6x1 mm ¥90 ¥99
U3 [0219.B0 JHIMPYYT1E2S" M6x0,75mm Axle's locking bearing M6x0,75 mm ¥90 ¥99
V  [V.TCE6X30 Fr97°i" b 6x30 TCEI screw 6x30 mm ¥40 ¥44
W [V.TCE6X35 Fry7°ii b 6x35 TCEI screw 6x35 mm ¥40 ¥44
X  |V.TCE6X40 Fr972°i" b 6x40 TCEI screw 6x40 mm ¥50 ¥55
Y |V.TCE8X20 Fry7°i b 8x20 TCEI screw 8x20 mm ¥60 ¥66
Z |V.TE8X25 ATV Vb 8x25 TE screw 8x25 mm ¥60 ¥66
AA [R.P.8X17 79y D.8x17 Washer @ 8x17 mm ¥20 ¥22
AB [R.P.8X17X3 795 ¥- D.8x17x3 Washer @ 8x17x3 mm ¥40 ¥44
AC |D.MSAB. 0yoFyM8 (F40) AB. nut M8 ¥30 ¥33




K ART PARTS

i

Rookie Ev - Mini - Nordix - Neos - Kid C

62

In vigore dal - Effective from 01-08-2022




=2Ark

K & AT

J & P AN

OTK KART JAPAN PRICE LIST

2025/2/1~

AXLES
Description

A (0054.02 Y75¥7 b D.25x840 Axle @ 25 x 840 mm for Micro

B  [0054.00EXP Y7517 D.25x980 Axle @ 25 x 980 mm for Mini ¥28,500 ¥31,350
c |0054.BOFIKU  |UPS¥7 D.30X5 FIK (U) Axle @ 30x950 mm for Mini Kart - Nordix type "U" ¥30,600|  ¥43560
c |o054.BoFIK Y757b D.30X5 FIK (N) Axle @ 30x950 mm for Mini Kart - Nordix type "N" ¥39,600(  ¥43560
c |0054.BOFIKO  |UPS¥7} D.30X5 FIK (0) Axle @ 30x950 mm for Mini Kart - Nordix type "0" ¥30,600|  ¥43560
c |o054.B0FIKH Y757b D.30X5 FIK (H) Axle @ 30x950 mm for Mini Kart - Nordix type "H" ¥39,600(  ¥43560
C [0054.BOFIKA  [U7y¥7h D.30X5 FIK (A) Axle @ 30x950 mm for Mini Kart - Nordix type "A" ¥39,600(  ¥43560
D (0054.D0 Axle @ 40 type "N" Nordix

D |0054.D0106P Assale @ 40 x 1060 mm tipo "P" Axle @ 40x1060 mm type "P" ¥42,500 ¥46,750
D |0054.D0106N Assale @ 40 x 1060 mm tipo "N" Axle @ 40x1060 mm type "N" ¥42,500 ¥46,750
D |0054.D0DD2N Assale @ 40 x 1060 mm tipo "N" per telaio DD2 Axle @ 40x1060 mm type "N" for DD2 Chassis ¥42,500 ¥46,750
D |0054.D0DD2C Assale @ 40 x 1060 mm tipo "C" per telaio DD2 Axle @ 40x1060 mm type "N" for DD2 Chassis ¥42,500 ¥46,750
E [0054.GOE Y73¥7h D.50X2/1030mm (E) Axle @ 50x1030 mm type "E" ¥42500|  ¥46,750
E [o054.G0U YP3¥7h D.50X211030mm (U) Axle @ 50x1030 mm type "U" ¥42500| 46,750
E |o054.G0Q Y73¥7b D.50X2/1030mm (Q) Axle @ 50x1030 mm type "Q" ¥42500|  ¥46,750
E [0054.GON YP3¥7b D.50X211030mm (N) Axle @ 50x1030 mm type "N" ¥42500| 46,750
E [0054.G0A YP¥7h D.50X2/1030mm (A) Axle @ 50x1030 mm type "A" ¥42500|  ¥46,750
E [0054.GOH YP3¥7h D.50X211030mm (H) Axle @ 50x1030 mm type "H" ¥42500| 46,750
E [0054.GoHD Y73v7h D.50X2/1030mm (HD) Axle @ 50x1030 mm type "HD" ¥42500|  ¥46,750
E [0054.GOHH YP3v7h D.50X2/1030mm (HH) Axle @ 50x1030 mm type "HH" ¥42500| 46,750
E  [0054.G0100U  (U7¥7h D.50X2/1000mm (U) Axle @ 50x1000 mm type "U" ¥42500|  ¥46,750
E [0054.G01000  [U73¥7h D.50X2/1000mm (Q) Axle @ 50x1000 mm type "Q" ¥42500| 46,750
E  [0054.G0100N  (U7¥7h D.50X2/1000mm (N) Axle @ 50x1000 mm type "N" ¥42500|  ¥46,750
E  [0054.G0100H  [U75¥7h D.50X211000mm (H) Axle @ 50x1000 mm type "H" ¥42500| 46,750
E  [0054.G0100HH  [U7S¥7h D.50X2/1000mm (HH) Axle @ 50x1000 mm type "HH" ¥42500) 46,750
F  [0054.HOU U75¥7MKZ]D.50X2/1030mm (U) Axle @ 50x1030 mm type "U" KZ ¥42,500 ¥46,750
F |o054.HoQ Y75¥7KZ)/D.50X2/1030mm (Q) Axle @ 50x1030 mm type "Q" KZ ¥42500|  ¥46,750
F  |0054.HoN Y75v71[KZ]/D.50X211030mm (N) Axle @ 50x1030 mm type "N" KZ ¥42500( 46,750
F  |0054.HoH Y75v7KZ1/D.50X211030mm (H) Axle @ 50x1030 mm type "H" KZ ¥42500) 46,750
F  |0054.HoHD Y75v7[KZ]/D.50X2/1030mm (HD) Axle @ 50x1030 mm type "HD" KZ ¥42500) 46,750
F 0054 HOHH Y757 (KZ1/D.50X211030mm (HH) Axle @ 50x1030 mm type "HH" KZ ¥42500) 46,750
H |0056.00 I17 M- 8x7x60 Axle's key 8x7x60 mm ¥510 ¥561
I |0056.A0 17 M- 8x7x40 Axle's key 8x7x40 mm ¥420 ¥462
J  [0056.B0 17 M- 8x7x80 Axle's key 8x7x80 mm ¥610 ¥671
K [0057.00 17 M- 8x5x60 Axle's key 8x5x60 mm ¥780 ¥858
L  |0057.D0 I17 M- 3PIN Axle's key @ 50 mm 3 pegs ¥3,900 ¥4,290
M |0057.E0 I17 M- 7.5x34/2PIN Axle's key @ 50 mm 2 pegs ¥2,700 ¥2,970
G  (0055.00 VP5vIMOF-h3- Stiffener bush for axle @ 50 mm ¥1,700 ¥1,870




T 30 ACCESSORI MARMITTA
av. EXHAUST SYSTEM

A

O %

O Y

Right

OK - Rok DVS

Rok Shifter
T P

RKZ L &S U
Mini KID

Mini NEOS

M

Rookie

64 In vigore dal - Effective from 01-08-2022




OTK KART JAPAN PRICE LIST
2025/2/1~

=2Ark

K& AT JAFPAN

EXHAUST SYSTEM

Description

A |0061.00 BVoY-Hng" - Silencer’s cradle-holder @ 100 mm ¥4,500 ¥4,950
B |0061.A0 B4UoH-ilil5" - 120mm Silencer’s cradle-holder @ 120 mm ¥4,100 ¥4,510
C [0061.B0 A=\ WAL=y -IKZ Silencer’s oval cradle-holder KZ ¥17,100 ¥18,810
D [0256.GA Uyt -7 5y b 2015 Exhaust support ¥4,900 ¥5,390
E [0256.IC BUo-Hil° -bAT-1R955" b (L) Rok GP Exhaust support ¥3,700 ¥4,070
F |0256.1B $4LoY-Hif° - pA7-/IROTAX MAX 175mm Rotax Exhaust support ¥2,900 ¥3,190
G [0256.A Y4LY-Hik - FAF-10K (L) OK - Rok DVS exhaust support ¥3,700 ¥4,070
H [0256.10SX $Uo-Hif° -bA7-IKZ(L) Left Rok Junior - KZ exhaust support ¥3,700 ¥4,070
I |0256.10DX Y4LI-Hik° -M7-IKZ(R) Right Rok - KZ exhaust support ¥3,700 ¥4,070
J  [0256.IDSX $4Lo8-Hifi° - pA7-IROK SHIFTER(L) Left Rok Shifter exhaust support ¥3,700 ¥4,070
K [0256.IDDX $4LyY-4if° - pA7-IROK SHIFTER(R) Right Rok Shifter exhaust support ¥3,700 ¥4,070
K1 |0256.IE $4Lo9-Hi° - MA7-IRKZ RKZ exhaust support ¥3,700 ¥4,070
L |0256.FB $4LoY-4if° - bA7-IMINI KID Mini Kid exhaust support ¥3,700 ¥4,070
M  |0256.FC $4LoY-Hi° -pA7-INEOS Mini NEOS exhaust support ¥3,700 ¥4,070
N  [0256.F0 $4L o8- - PA7-/IROOKIE Mini Rookie exhaust support ¥4,900 ¥5,390
0  [0256.M6X24 BUY-9i° -7 35y M b 6x24mm () SPECIAL BOLT 6x24 mm ¥110 ¥121
P  |V.TPSCEI0X40 |43if" )} 10x40 TPSCEI Screw 10x40 mm ¥160 ¥176
Q |V.TE8X30 NI Ik b 8x30 TE screw 8x30 mm ¥50 ¥55
R [RP.6X12 Jy3p- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
S |R.P.8X17 Jy5¥- D.8x17 Washer @ 8x17 mm ¥20 ¥22
T |RP.10X22 793¢~ D.10x20x2 Washer @ 10x20x2 mm ¥20 ¥22
T1  |RP.10X30X2,5  [795¥- D.10x30x2.5 Washer @ 10x30x2,5 mm ¥50 ¥55
U |0228.00 ot yhIyIr- M10/ALU Biconical AL washer @ 10 mm ¥420 ¥462
v |p.meAB. A70953y hM6 (+407) A.B. nut M6 ¥20 ¥22
W |D.MSAB. oysryime (F40) A.B. nut M8 ¥30 ¥33
X |p.Mm10AB. 099F9 MMA0(F40Y)LOW 093y AM10(340%) LOW ¥50 ¥55
Y |0063.00 $4Lo9-f5" -0 - Rubber washer for silencer holder ¥310 ¥341
Z |0060.00 FrON-27°Y¥9" (130mm) Silencer’s spring L. 130 mm ¥570 ¥627
0059.00 FrIN -27°Y¥5* (55mm) Silencer’s spring L. 55 mm ¥460 ¥506
0059.A0 FrIN -27°YY5* (45mm) Silencer’s spring L. 45 mm ¥460 ¥506
0059.80 FrIN'-27°Y¥5" (35mm) Silencer’s spring L. 35 mm ¥460 ¥506




K ART PARTS

BARRE DI TORSIONE E FASCETTE

CVAET N 1ORSION BARS AND RINGS

Nordix

66

In vigore dal - Effective from 01-08-2022




=2Ark

K& AT JAFPAN

TORSION BARS AND RINGS

OTK KART JAPAN PRICE LIST

2025/2/1~

Description
A |0235.FAA M53UN"=12-N" )b 275mm Oval front bar L. 275 mm ¥4,800 ¥5,280
B [0235.FA F-%3uN" - D.28 NORDIX Nordix round front bar @ 28 mm ¥4,500 ¥4,950
C |0235.FAB M-%3YN" - D.30x1.0 (J0-14) Round front bar @ 30x1 mm (chromium-plated) ¥7,000 ¥7,700
D |0235.FAN M-33IN" - D.30x1.5 (IMN"-) Round front bar @ 30x1,5 mm (silver) ¥7,000 ¥7,700
E |0235.FAO b-93IN" - D.30x2.0 (1" - ") Round front bar @ 30x2 mm (gold) ¥7,000 ¥7,700
F  [0235.GA Y7p-y3IN" - D.30 470mm Rear bar @ 30 mm L. 470 mm ¥4,800 ¥5,280
G (0240.00 FV353557° D.2812A0)1- Cylindrical AL ring @ 28 mm ¥6,400 ¥7,040
H |0240.B0 FV29577° D.3012A9Y1- Cylindrical AL ring @ 30 mm ¥6,400 ¥7,040
| 0240.CODX A= WPN2H357° D.30IRI2AHY1- Oval AL ring @ 30 mm Right ¥6,400 ¥7,040
J  [0240.c0SX A=\ W7I2H37° D.30/LI2AHY 1~ Oval AL ring @ 30 mm Left ¥6,400 ¥7,040




K ART PARTS

PIANALI
IEVACPAN £ OOR PLATES

Mini Exp

Mini KID

Mini NEOS

E
Rookie - Nordix

?G
Q|
OH
©J
oK

TG

Q|

OoH

oK

In vigore dal - Effective from 01-08-2022

68



=2Ark

K& AT JAFPAN

FLOOR PLATES

OTK KART JAPAN PRICE LIST

2025/2/1~

Description

A |0072.D01B Jn7-7° b~k MICRO Micro AL floor plate ¥24,500 ¥26,950
B  |0072.B0A J07-7° b-b MINI EXP Mini Exp AL floor plate ¥26,400 ¥29,040
C |0072.BOE Jn7-7°b-b NEOS Mini NEOS AL floor plate ¥26,400 ¥29,040
D [0072.80B 707-7° b~} MINI KID Mini Kid AL floor plate ¥26,400(  ¥29,040
E |0072.BOF J07-7° b~ ROOKIE EV (19-21) Rookie EV floor plate ¥26,400 ¥29,040
F 0072.00B AL floor plate
F1  |0072.00C 707-7°b-h OK (19) OK floor plate ¥28,300(  ¥31,130
F1  |0072.00CA J07-7°b-b KZ (19) KZ floor plate ¥28,300)  ¥31,130
F1  |0072.00C1 707-7° b-b OK-KZ (19)*TDX 32mmA3 Krypton floor plate ¥28,300 ¥31,130
G |V.TPSCEI6X20 #3ik" )b b 6x20 TPSCEI screw 6x20 mm ¥40 ¥44
H ]0031.00 N -T957-6X20 Rubber @ 6x20 mm Red ¥80 ¥88
H  |0031.00N Rubber @ 6x20 mm Black ¥80 ¥88
I {0033.00 0" yhIySr- M6/ALU Biconical AL washer @ 6 mm ¥290 ¥319
J |RP.6X18 Jyv- D.6x18 Washer @ 6x18x1 mm ¥10 ¥11
K |D.M6AB. A7095F9 M6 (F40) A.B. nut M6 ¥20 ¥22
M |C.D.M6R FyMIN"-M6 M6 nut's cover Red ¥70 ¥77
M [C.D.M6N M6 nut's cover Black ¥70 ¥77
N  |0225.06 Jo7-N°#h7° 357 5N - Plug ¥250 ¥275




PARTS

KART

SERBATOI
FUEL TANKS

Tav. 33

i o o _ =
" -ﬂﬁﬂo. ’ L =]
.-.l-
@@= Jo
_ L Z o F
_
_ b
_
L
_ .
_
_
| 0
| o
_ .|
(1
_ 2
_
_
@

L e e e o e e e e e e e e e e — — —
o
— @) T _ - =
[ ===~ ==

=
< &
-

Lt. 3

B\
0-
D .
o8 -
[a)
- O o _— - =
-.ﬁol -
&= .,_
z o o
T
5900 enc=g
w0
L]
w
n
)
|
N
X

In vigore dal - Effective from 01-08-2022

70



=2Ark

K& AT JAFPAN

OTK KART JAPAN PRICE LIST

2025/2/1~

FUEL TANKS
Description

A |0073.0B 71-I}99 L.3/ROOKIE/3 Fuel tank Lts. 3 ¥18,900 ¥20,790
0073.0BEX Fuel tank Lts. 3 ¥18,900 ¥20,790

B |0073.E0 71-IM9Y) L8.5IKFA3(2297°)) OK fuel tank Lts. 8,5 ¥24400(  ¥26,840
0073.E0EX OK fuel tank Lts. 8,5 ¥24,400 ¥26,840

c |oo73EA 71-IIW5Y L.85IKZ(3297° ) KZ fuel tank Lts. 8,5 ¥26,200]  ¥28,820
0073.EAEX KZ fuel tank Lts. 8,5 ¥26,200]  ¥28,820

D {0260.00 U Y-J1-1095%9 Recovery fuel tank ¥1,030 ¥1,133
E [0224.00A 71-IN97939y7° 3L-8LIKF Plug for fuel tank Lts 3 - Lts 8,5 Red ¥2,300 ¥2,530
0224.008 Plug for fuel tank Lts 3 - Lts 8,5 Black ¥2,300 ¥2,530

F  |0224.A0 AE-WI1-INI0930y7° Small drilled plug for fuel tank Red ¥290 ¥319
0224.A0N Small drilled plug for fuel tank Black ¥290 ¥319

H [0077.cB 559297° hA-Y9" OR for fuel pipe's connector ¥30 ¥33
I [0075.A0 J1-IMN°47°9357° Fuel pipe's clamp ¥250 ¥275

J  [0074.B0 71-IIN°47° 5x8/[1m Fuel pipe @ 5x8 mm ¥1,900 ¥2,090
K  |0074.00 71-IM\°47° 5x10/1m Fuel pipe @ 5x10 mm ¥810 ¥891
L  [0074.CO 71-IWN°47° 6x9/1m/SA3 Fuel pipe @ 6x9 mm ¥1,900 ¥2,090
M |0076.A0 559914 b Fuel tank's weight ¥1,500 ¥1,650
N [0077.DAA §59297° W399 112020 Fuel pipe's connector for 8,5 Lts. fuel tank ¥2,900 ¥3,190
0 |0077.D0A §59297°9* 7° W2022(k-A48) Breather for 8,5 Lts. fuel tank ¥3,100 ¥3,410
P |0077.CBA §59297° hA-Y29" 12011 Viton OR for fuel pipe's connector ¥30 ¥33
Q (0073.002A 71-1NY974%H2)7* Fuel tank's fixing knob Red ¥670 ¥737
0073.002AN Fuel tank's fixing knob Black ¥940 ¥1,034

R |V.TE8X25 AT U b 8x25 TE screw 8x25 mm ¥60 ¥66
S [0077.00 559297° 395" W(IHBY) KZ fuel tank's connector ¥1,900 ¥2,090
T 0029.07 559297°W995- (074N -) Fiber washer ¥60 ¥66
U |0077.B0 599297° htyb Fuel tank connector's nut ¥840 ¥924
V. |V.TPSCEI8X20 (47" b 8x20 TPSCEI screw 8x20 mm ¥60 ¥66
W |0216.00 ot yMIYS - M8/ALU Biconical AL washer @ 8 mm ¥360 ¥396
X [RP.8X17 793¢~ D.8x17 Washer @ 8x17 mm ¥20 ¥22
0224.C0 Kit for locking fuel transfer for fuel tank Kit for locking fuel transfer for fuel tank ¥600 ¥660




K ART PARTS

Tav. 30 R BSM2

72 In vigore dal - Effective from 01-08-2022




=2Ark

K& AT JAFPAN

BSM2 BRAKE PUMPS

OTK KART JAPAN PRICE LIST

2025/2/1~

Description

A |0029.1A IA9-3Y74" - COMP BSM2/NEOS Complete BSM2 brake pumps ¥61,500 ¥67,650
B [0029.B13 YA9-5Y589"-27°Uyh* BS2 BSM brake pump's spring ¥260 ¥286
D |0029.B10A XA9-5YY5"-t° ApY D.13-8/BSM BSM brake pump's AL piston @ 13-8 mm ¥2,700 ¥2.970
E ]0029.12 XA9-5UY8" -5-h" - Seeger ¥20 ¥22
F  [0120.00 YA9-5Y589" -5 2N - LONG BSM brake pump's dusty rubber cap Red ¥1,300 ¥1,430
F  [0120.00N BSM brake pump's dusty rubber cap Black ¥1,300 ¥1,430
G |0078.B1 7" b=%ik-25" 3I4YMAM~F M10x1-1/8 (2015) Brake pipe's straight connector M10x1-1/8" ¥1,100 ¥1,210
H |0029.B6A XA9-5UY5"-7° 35" &0-Uvy* Discharge plug with OR ¥1,100 ¥1,210

0029.B7 XA9-5U05"-7°35" 2-Uuh* Discharge plug's OR ¥70 ¥77
I [V.TCE6X55 $ry7° iKbb 6x55 TCEI screw 6 x 55 ¥70 ¥77
| V.TCE6X60F Drilled TCEI screw 6x60 mm ¥0
J |p.meAB. thI0y5Hy M6 (F40) AB. nut M6 ¥20 ¥22
K [RP.6X12 Jy3p- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22

0255.00 Spring for drilled screws ¥0




KART PARTS

POMPA FRENO

74 In vigore dal - Effective from 01-08-2022 E




=2Ark

K& AT JAFPAN

MINI KID BRAKE PUMP

OTK KART JAPAN PRICE LIST

2025/2/1~

Description

A1 |0030.FA TR5-5175" - COMP MINI KID Mini Kid Brake pump ¥60,200]  ¥66,220
A2 [0028.01 7°V-$71-HE° Y M6X12(S) Fork M6x12 mm ¥880 ¥968
B  |0028.03 t°uI74-0 6x18/1ifi-) Pin 6x18 mm (1 hole) ¥670 ¥737
C  (0029.B6A XA9-5UY5"-7° 39" &0-Uyy* Discharge plug with OR ¥1,100 ¥1,210
D |0030.03 XA9-3YY5"-27°Y>5* MINI KID Mini Kid pump spring ¥290 ¥319
E [0030.04 YA9-3Y55" -5-h" - MINI KID Seeger ¥50 ¥55
F  [0030.C2 YA9-3Y58" -£° A+ MINI KID Mini Kid brake pump's piston ¥5,000 ¥5,500
G |0030.F6 YA9-3Y58" -\* - MINI KID Mini Kid brake pump's lever ¥2,900 ¥3,190
H [0030.F7 YA9-5Y589" -Y\* -125537 MINI KID Mini Kid brake pump's connection ¥5,700 ¥6,270

I |0030.F9 YA9-5Y289" -U\*-t° Y BSM4 Mini Kid brake pump's pin ¥1,600 ¥1,760
J  |0078.B1 7 b=%ik-25" 3I4YMAM~F M10x1-1/8 (2015) Brake pipe's straight connector M10x1-1/8" ¥1,100 ¥1,210
K ]0097.05 Oil-seal

L [0100.B10A IA9-3Y¥9*-34-59* D.22 (MINI KID) Brake pump's lining ¥780 ¥858
M [0119.09 NN DDA VL R ) Peg's locking split-pin ¥20 ¥22
N [0119.A1 YA9-7°yy10y b 53mm BS3-4-5-6-7 BS5 - SA2 - SA3 pump's push rod L. 53 mm ¥1,900 ¥2,090
o0 |p.measB. 70951y M6 (F40Y) A.B. nut M6 ¥20 ¥22
P [R.P.6X11 7y3v- D.6x11x1,5mm Washer @ 6,4x11x1,5 mm ¥10 ¥11
Q |R.P.6X12 7y3v- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
R |V.TB6X30 i 972991~ 6x30 TB screw 6x30 mm ¥90 ¥99




POMPA FRENO
JEVAEION o2 AKE PUMP

BSM4

76

In vigore dal - Effective from 01-08-2022




=2Ark

K& AT JAFPAN

BSM 4 BRAKE PUMP

OTK KART JAPAN PRICE LIST

2025/2/1~

Description

A |0030.EA IA9-3Y24" - COMP BSM4 BSM 4 Brake pump ¥62,500 ¥68,750
B (0029.D15 NAI-SU5" -MN9H34=99* Brake pump tank's lining ¥1,800 ¥1,980
C (0029.D16 XAI=-3UV8" -MNIVIF4Z09" DS v- Brake pump tank’s washer ¥310 ¥341
D |0029.D6 XA9-5U05" -9 Brake pump's tank ¥9,200 ¥10,120
E [0029.D6A XNA-SU5" - MW ¥vyI° Brake pump tank's cap ¥6,100 ¥6,710
F  |0030.E2 YA9-5Y58" -t° AbY BSM4 BSM 4 brake pump's piston ¥4,600 ¥5,060
G (0030.E3 XA9-5YY5"-27°1U27" BSM4 BSM 4 pump spring ¥1,700 ¥1,870
H [0030.E4 y-h"-BSM4 Seeger ¥30 ¥33
I [0030.E5 XA9-3UY8"-54Z59" BSM4 Brake pump’s lining ¥1,100 ¥1,210
J 0030.E6 YA9-5UY5" -2 >-) BSM4 Oil-seal ¥1,300 ¥1,430
K [0030.E7 YA9-3Y58" -y\* -BSM4 BSM 4 brake pump's lever ¥3,200 ¥3,520
L [0030.F9 YA9-5Y289" -t° y BSM4 Mini Kid brake pump's pin ¥1,600 ¥1,760
M  |0081.B3BA Drilled screw 1/8 for banjo fitting

N |0119.09 N IYHIy8-t°y Peg's locking split-pin ¥20 ¥22
0 [RP.6X11 793¢~ D.6x11x1,5mm Washer @ 6,4x11x1,5 mm ¥10 ¥11
P  [0081.B3VR 7 V=%if-25" 342 MIySv- 118 Washer for drilled screw ¥110 ¥121




;22";;“;{,“,5,’;'° SA2 - SA3 - BSS - BSD

78 In vigore dal - Effective from 01-08-2022 E




=2Ark

K & AT

J & P AN

SA2 - SA3 - BSS - BSD BRAKE PUMP

OTK KART JAPAN PRICE LIST

2025/2/1~

Description

A |0029.GB 775" vANZI-5Y9" - SA2-SA3-BSS COMP Complete one-piece brake pump SA2 - SA3 - BSS ¥71,300 ¥78,430
0078.B1 7" b=%ifi-25" 3I4YMAM~F M10x1-1/8 (2015) Brake pipe's straight connector M10x1-1/8" ¥1,100 ¥1,210
0029.D13A 75" vANAS-27°UY5" SHORT(ERAT) Brake pump's spring ¥320 ¥352

D+E  [0020.D10DKIT  [EA775" ¥ANAS-t°AbY D.A3-8ILONG (54=00° ) Brake pump's lining @ 13-8 mm ¥5,600 ¥6,160
F  ]0029.12 XA9-3UV8" -5-h" - Seeger ¥20 ¥22
G |0120.A0 YA9-5Y59" -5 AMIN" - SHORT Brake pump's dusty rubber cap ¥1,300 ¥1,430
G |0120.A0N Brake pump's dusty rubber cap ¥1,300 ¥1,430
H |0029.B6A XA9-5UY5"-7° 35" &0-Uvy* Discharge plug with OR ¥1,100 ¥1,210
I [V.TCE6X55 Fry7°il" b 6x55 TCEI screw 6 x 55 ¥70 ¥77
J R.P.6X12 7y5¢- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
K D.M6A.A. Fyb M6 A.A. nut M6 ¥20 ¥22
L  |0029.D6 XA9-5U05" -9 Brake pump's tank ¥9,200 ¥10,120
M |0029.D6A NA-SU5" - MW ¥vyI° Brake pump tank's cap ¥6,100 ¥6,710
N [0029.D15 XAG-SV89" -MNIVH34=59* Brake pump tank's lining ¥1,800 ¥1,980
0 |0029.D16 A=YV -HMNIYIF4Z05" DS v- Brake pump tank’s washer ¥310 ¥341




POMPA FRENO
JEVAEL o R AKE PUMP BSZ

80 In vigore dal - Effective from 01-08-2022 E




OTK KART JAPAN PRICE LIST
2025/2/1~

=2Ark

K& AT JAFPAN

BSZ BRAKE PUMP

Description
A 0029.GC YA9-3Y>49" - COMP BSZ Complete one-piece brake pump BSZ ¥84,100 ¥92,510
B  [0029.GCEX Complete one-piece brake pump BSZ ¥84,100 ¥92,510
C  (0029.B6A XA9-5UY5"-7° 3" &0-Uuy* Discharge plug with OR ¥1,100 ¥1,210
D |0029.D6 XA9-5U05" -9 Brake pump's tank ¥9,200 ¥10,120
E [0029.D6A XNA-SU5" - MW ¥vyI° Brake pump tank's cap ¥6,100 ¥6,710
F  (0029.GC6B NAF-SUI5" -HMNI9AN° -4~ Pump Tank's spacer ¥290 ¥319
G (0029.GC10 75" ¥ANA9-L° AMY D.16-9BSK-BSZ Brake pump's piston @ 16-9 mm ¥4,100 ¥4,510
H |0029.GC9 XA9-5YY5" 54279 D.16-9BSK-BSZ Brake pump's lining @ 16-9 mm ¥2,200 ¥2.420
I ]0029.GC12 YA9-3Y08" -3-p" -BSZ Brake pump's Seeger ¥30 ¥33
J  |0029.013A ENI75° vANRS-27°UY)" SHORT(ERAT) Brake pump's spring ¥320 ¥352
K [0029.D15 XNA-SU5" -MNH34Z05* Brake pump tank's lining ¥1,800 ¥1,980
L |0029.D16 XR9-5UY8" -MNIYI54Z55" D95 v- Brake pump tank’s washer ¥310 ¥341
M |0120.A0 YA9-Y59" -5 AMIN" - SHORT Brake pump's dusty rubber cap ¥1,300 ¥1,430
N [0120.A0N Brake pump's dusty rubber cap ¥1,300 ¥1,430
0 |0078.B1 7" b=%ik-25" 3I4YMAM~-F M10x1-1/8 (2015) Brake pipe's straight connector M10x1-1/8" ¥1,100 ¥1,210




Sk

KART PARTS

PINZA FRENO POSTERIORE
REAR BRAKE CALIPER

BSM - NEOS

Mini Neos

-

| @0

L

82

In vigore dal - Effective from 01-08-2022




@ | | K OTK KART JAPAN PRICE LIST

KART JAPAN 2025/2/1~

BSM NEOS REAR BRAKE CALIPER

Description

A |0082.JAB Y77 b-$3vY)\° - BSM/COMP NEOS Complete BSM rear brake caliper Mini Neos ¥76,500 ¥84,150
B  |0082.E15A Y77°b-$N°yb"t° Y BS6-BSM-SA2-BSD/LONG/57mm Pad's pin for BSD - BSM rear brake caliper ¥320 ¥352
C |0082.J4 Y77 b-$N°y b BSM BSM rear brake caliper's pad ¥14,000 ¥15,400
D [0082.J3 Y77 b-$1° y " AN° —4- 0.5mm BSM Pad's spacer for BSM rear brake caliper Thickness 0,5mm ¥590 ¥649
E [0082.06A $rUN°-£° AbY BS1-2-BSM BSM rear brake caliper's piston ¥2,500 ¥2,750
F  |0082.05 FrUN°-E° Abvhy7° BS1-2-BSM (1 3/16) BSM rear brake caliper's lining ¥610 ¥671
G |V.TCE5X30 T V=N YN US-I3997° i Wb 5x30 TCEI screw 5x30 mm ¥40 ¥44
H |0082.07 Ny U5-327°U59" BS1-2-BSM Pad's return spring for BSM rear brake caliper ¥340 ¥374
1 (0082.08 Ny U5-Jif* ) by5- BS1-2-BSM Tube for pad's screw for BSM rear brake caliper ¥670 ¥737
J  [0081.B3BA 7 b-#i-25" 31V 1- 1/8 Drilled screw 1/8 for banjo fitting ¥780 ¥858
K  |0081.B3VR 7 V-%if-25" 32 MIySv- 118 Washer for drilled screw ¥110 ¥121
L  |V.TCE4X6 J0YM7-7 Y-} 4X6mm TCEI screw 4x6 mm ¥40 ¥44
M ]0223.B0 A-U9* 2012 OR 2012 ¥20 ¥22
N |V.TCE8X35 Fry)° ik hb 8x35 TCEI screw 8x35 mm ¥80 ¥88
0 [D.M5C 7 b-$5rUN° -£° sty M5 Metal self-locking nut M5 ¥30 ¥33
P [0309.00 7 b-$17-10N"7- Brake's air conveyor ¥3,300 ¥3,630
Q  [0309.00KIT Screws for brake's air conveyor




K ART PARTS

PINZA FRENO POSTERIORE
Tav. 40 REAR BRAKE CALIPER BSM4

84 In vigore dal - Effective from 01-08-2022 E




=2Ark

K & AT

J & P AN

BSM 4 REAR BRAKE CALIPER

OTK KART JAPAN PRICE LIST

2025/2/1~

Description
A [0082.HB Y77"b-$3¥YN\° - BSM 4 COMP Complete BSM 4 rear brake caliper ¥147,000] ¥161,700
B |0081.83BA 7" b-#-25" 3PV 1- 1/8 Drilled screw 1/8 for banjo fitting ¥780 ¥858
C |0081.B3VR 7 V-%if-25" 32 MIySv- 118 Washer for drilled screw ¥110 ¥121
D [0082.E15A Y77 b-$N°yh t° Y BSM-SA2-BSD/LONG/57mm Pad's pin for BSD - BSM rear brake caliper ¥320 ¥352
E |0082.HB3 7" bE3rUN° -2A° -H- 6 mm Brake caliper's spacer 6 mm ¥2,100 ¥2,310
F |o0100.012 JOYRI* b-$17-7"Y-}* BS5-7-SA3-BSS-BSM4 Discharge plug M6 ¥1,300 ¥1,430
G [0100.E14 ORI b-FN° Y 097" v51 BS5-BSS Locking bush for BSS front brake caliper's pad ¥420 ¥462
H [0100.F9 J0Ub7° b-$E° APUYY" 3y b BS7-SA3-BSS-BSM4 Magneto for SA3 caliper's piston ¥960 ¥1,056
1 (0100.G10 07" b-#A917-51" - BSS-KZ/BSM4 KZ BSS front caliper's lining ¥1,400 ¥1,540
J  [0100.G11A JoubJ* b-%k° AbY BSS-KZ-BSM4 Front brake caliper piston KZ BSS ¥2,900 ¥3,190
K {0100.G2 7 b-3N\° 1 BSS-KZ/BSM4/2pcs Front brake pad BSS / BSM4 ¥12,300 ¥13,530
L |[D.M5C 7 b-$FrUN° -t ° sty M5 Metal self-locking nut M5 ¥30 ¥33
M [G.4X4 0997 yy129Y1-4x4 Lock M4x4 mm flat tip ¥40 ¥44
N |v.TB3X6 #5291~ 3X6 (¥9° %y pAYY1-/BSS-KZ-BSM4) TB screw 3x6 mm ¥60 ¥66
0 [V.TCE6X30 $ry7°ik bb 6x30 TCEI screw 6x30 mm ¥40 ¥44
P [V.TCE6X45 Fry7° ik b 6x45 TCEI screw 6x45 mm ¥60 ¥66
Q [0226.00E U77° b-$3+vYN° -Hili° - b Rookie EV Rear caliper's support for Mini uk - Rookie EV ¥6,100 ¥6,710




PINZA FRENO POSTERIORE
Tav. 41 REAR BRAKE CALIPER BSD

0
0
q
o
w
X
q
0
@

86 In vigore dal - Effective from 01-08-2022




@ | | K OTK KART JAPAN PRICE LIST

KART JAPAN 2025/2/1~

BSD REAR BRAKE CALIPER

Description

A [0082.GB Y77"b-$3¥Y)\° - BSD/COMP OK Complete BSD rear brake caliper ¥128,600|  ¥141,460
B |0078.B1 7" b=%ifi-25" 3I4YMAM~F M10x1-1/8 (2015) Brake pipe's straight connector M10x1-1/8" ¥1,100 ¥1,210
C |0082.D12 V77" V-$17-7"U-}" BS6-SA2-BSD Discharge plug @ 7x1 mm ¥1,300 ¥1,430
D (0082.D13 7 b-$t° AbUVY" 2y b BS5-6-SA2-BSD Magneto for BS5 - SA2 caliper's piston ¥780 ¥858
E |0082.D5 U77°b-$A917-5)\" - BS6-SA2-BSD SA2 rear brake caliper's lining ¥1,400 ¥1,540
F  |0082.D6A Y77 b-$t° AbY BS6-SA2-BSD SA2 rear brake caliper's piston ¥3,200 ¥3,520
G  [0082.D9A UP$vUN°-E° AbVHYYI° BS6-SA2-BSD SA2 rear brake caliper's clip ¥420 ¥462
H |0082.E14 UP7° b=y 0997" 991 BS6-SA2-BSD Locking bush for SA2 rear brake caliper's pad ¥420 ¥462
I [0082.E15A Y77°b-$N°y t° Y BS6-BSM-SA2-BSD/LONG/57mm Pad's pin for BSD - BSM rear brake caliper ¥320 ¥352
M |0082.G4KIT 7 b-$1°yM BSDx2 BSD rear brake caliper's pad (2 pcs box) ¥12,600 ¥13,860
N [D.M5C 7 b-$5rUN° -t° sty M5 Metal self-locking nut M5 ¥30 ¥33
0 |[G.4x4 0997 yy129Y1-4X4 Lock M4x4 mm flat tip ¥40 ¥44
P  |V.TPSCEI4X14 9" 2y hA9Y1- 4X14 TPSCEI screw 4x14 mm ¥30 ¥33
Q |0309.00 7 b-$17-10N"7- Brake's air conveyor ¥3,300 ¥3,630
R 10309.00KIT Screws for brake's air conveyor

0082.G10 V77" b-$3vUN°-7°39" 2-U5" BSD Rear caliper plug BSD o-ring ¥60 ¥66

0082.G1A V77" b-$+vUN°-7°55" BSD Rear caliper plug BSD ¥5,600 ¥6,160




BRAKE PADS

KART PARTS

PINZA FRENO ANTERIORE
FRONT BRAKE CALIPER

BSS

Left

88

In vigore dal - Effective from 01-08-2022




=2Ark

K & AT

J & P AN

BSS FRONT BRAKE CALIPER

OTK KART JAPAN PRICE LIST

2025/2/1~

Description

A |0100.GBDX 70907 b-$$+YN° - BSS-KZ/RICOMP Complete right BSS front brake caliper ¥118,600|  ¥130,460
A |0100.GBSX J0Yb7° b-3$¢YN° - BSS-KZ/LICOMP Complete left BSS front brake caliper ¥118,600]  ¥130,460
B |0078.B1 7" b=%ik-25" 314 MAM~F M10x1-1/8 (2015) Brake pipe's straight connector M10x1-1/8" ¥1,100 ¥1,210
C (0100.012 J0Yh7°b-317-7"U-p" BS5-7-SA3-BSS-BSM4 Discharge plug M6 mm ¥1,300 ¥1,430
D (0100.G6 {E£Y" 5x6mm BSS-KZ Lock cup tip ¥50 ¥55
E [0100.G7 AF-Nii" -y 4mm BSS-KZ Steel ball 4 mm ¥60 ¥66
F  [0100.G14 J0Ub7° b-$10°yhE° Y BSS-KZ/52mm Front pad pin kz BSS ¥460 ¥506
G [0100.E14 ORI L-FN°yh 0997" v51 BS5-BSS Locking bush for BSS front brake caliper's pad ¥420 ¥462
H [G.4x4 0997°yy129Y1-4X4 Lock M4x4 mm flat tip ¥40 ¥44
K [0100.G3 J0Ub7" b-#50UN° -E° AbIHYYT° BSS-KZ Front caliper thickness clip KZ BSS ¥460 ¥506
L (0100.G10 J0h7" b-$2917-351" - BSS-KZ/BSM4 KZ BSS front caliper's lining ¥1,400 ¥1,540
M [0100.G11A JoybI* b-%k° AbY BSS-KZ-BSM4 Front brake caliper piston KZ BSS ¥2,900 ¥3,190
N  [0100.F9 J0ub7" b-$E° APSYY" 3y b BST-SA3-BSS-BSM4 Magneto for SA3 caliper's piston ¥960 ¥1,056
0 |v.TB3X6 #5291~ 3X6 (¥9° %9 pAHY1-/BSS-KZ-BSM4) TB screw 3x6 mm ¥60 ¥66
P [0100.G2 07" b-FN° Y BSS-KZIBSM4 2pcs Front brake pad BSS / BSM4 ¥12,300 ¥13,530
R [D.M5C 7 b-$FrUN° -t° vy M5 Metal self-locking nut M5 ¥30 ¥33

0100.G1A JoubI* b-$4vUN°-7°35" BSS Rear caliper plug KZ BSS ¥4,600 ¥5,060

0100.G5 JOVMI" b-#$vUN°-7° 55" A-UYY" BSS-KZ Front caliper plug KZ BSS o-ring ¥60 ¥66




Sk

K ART PARTS

PINZA FRENO POSTERIORE MECCANICA
Tav. 43 REAR MECHANICAL BRAKE CALIPER BSC

a0 In vigore dal - Effective from 01-08-2022 E




OTK KART JAPAN PRICE LIST
2025/2/1~

=2Ark

K& AT JAFPAN

BSC REAR MECHANICAL BRAKE CALIPER

Description
A [0116.CO0 U77"b-$3¥YN\° - BSC/ICOMP BSC rear mechanical brake caliper ¥43,100 ¥47,410
B |0116.c1 V77" b-$3vUN°-N\-Ti" 7" 4- BSC BSC half body mechanical rear brake caliper ¥20,900 ¥22,990
Cc |o116.c2 V77" b-$3vUN°-LN" - BSC Mechanical brake caliper's lever BSC ¥2,900 ¥3,190
D [0116.C3 Y77 b-$3vUN°-L° AbY BSC BSC mechanical brake caliper's piston ¥2,900 ¥3,190
E |0116.C4 V77" b-$+vUN°-UN"-L° Y BSC BSC pin for mechanical brake caliper lever ¥810 ¥891
F |0116.C5 V77" b33N -U\"-E° Y £° AVT° Y91 BSC Pin for brake caliper's piston push ¥670 ¥737
G (0116.C6 Y77 b-$3vYN° -bI -94¥-L° ) BSC BSC pin for brake caliper's cable ¥670 ¥737
H |0082.07 Ny U5-327°U59" BS1-2-BSM Pad's return spring for BSM rear brake caliper ¥340 ¥374
1 (0082.08 Ny U5-Jif* ) by5- BS1-2-BSM Tube for pad's screw for BSM rear brake caliper ¥670 ¥737
J  |0082.E15A Y77°b-$\°y" £° yBS6-BSM-SA2-BSD/LONG/57mm Pad's pin for BSD - BSM rear brake caliper ¥320 ¥352
K [0082.J3 Y77 b-$N° y k" AN° -4- 0.5mm BSM Pad's spacer for BSM rear brake caliper Thickness 0,5mm ¥590 ¥649
L (0082.J4 Y77 b-$N°y* BSM BSM rear brake caliper's pad ¥14,000 ¥15,400
M (0116.B8 $-927° U5 1pUN°-t° > Circle spring ¥380 ¥418
N [0226.0B Y77 b-$+vYN° -Hik° - D.180 BSC BSC rear brake caliper's support d.180 ¥3,500 ¥3,850
0 [D.M5C 7 b-$5rUN° -£° sty M5 Metal self-locking nut M5 ¥30 ¥33
P |D.M6AB. EAI0y5Fy M6 (F40) A.B. nut M6 ¥20 ¥22
Q |[RES A7°U5* 993 ¥- D.8x15 Spring washer @ 8 mm ¥30 ¥33
R |V.TCE5X30 7 V=Y U5-S3ry7° i b 5x30 TCEI screw 5x30 mm ¥40 ¥44
S |V.TCE8X20 Fry2° ik bb 8x20 TCEI screw 8x20 mm ¥60 ¥66
T |V.TCE8X35 Fry7° ik hb 8x35 TCEI screw 8 x 35 ¥30 ¥88




Sk

K ART PARTS

PINZA FRENO POSTERIORE MECCANICA
Tav. 44 REAR MECHANICAL BRAKE CALIPER MICRO

92 In vigore dal - Effective from 01-08-2022 g




=2Ark

K& AT JAFPAN

MICRO MECHANICAL BRAKE CALIPER

OTK KART JAPAN PRICE LIST

2025/2/1~

Description
A |0116.EA Y77 b-$3¥Y)\° - MICRO Complete brake caliper Micro ¥78,500 ¥86,350
B [0116.E1R Y77 b-$3rUN°-N\-Ji" 7" 4-DX MICRO DX brake caliper's half body Micro ¥30,100 ¥33,110
C |01M6.E1L Y77 b-$3rIN°-N\-Ji" 7" 4-SX MICRO SX brake caliper's half body Micro ¥30,100 ¥33,110
D |[0116.E2 Y77 b-$3rYN°-bI\" - MICRO mechanical brake caliper's lever Micro ¥3,200 ¥3,520
E |0116.E3L U77° b-$3+vYN° -£° APYSX MICRO SX brake caliper's piston Micro ¥3,700 ¥4,070
F |0116.E3R U77" b-$+vYN\° -t° AbYDX MICRO DX brake caliper's piston Micro ¥3,700 ¥4,070
G [0116.E4 7" b=\ Z0° -%- MICRO Pad's spacer ¥110 ¥121
H [0116.E5 0yIN° 75" ARV M MICRO Lock pad's adjustment ¥8,100 ¥8,910
I |0116.E6 Y77 b-$3rYN°-£° Y 6x6mm MICRO Micro brake caliper's pin 6x6 mm ¥60 ¥66
J |0116.E7L V77" b-$3vUN° -bI\*-7°UYH" SX MICRO SX brake caliper's lever spring Micro ¥2,500 ¥2,750
K |0116.E7TR U7P7° b-33vYN° -bI"-27° Y25 DX MICRO DX brake caliper's lever spring Micro ¥2,500 ¥2,750
L |0116.E8 FPUN° -7 ¥29-A°J* MICRO-MINI KID Adjuster's peg brake caliper Micro - Mini Kid ¥1,900 ¥2,090
M |0116.E10 7 b-$1°yh 0yHE° Y MICRO Locking pin for Micro pad ¥140 ¥154
N |0116.B8 $-9027° 055" 1pUN°-t° Circle spring ¥380 ¥418
0 [0100.F2 OV b-#N° Y BST-SA3/x2 SA3 front brake caliper's pad ¥14,200 ¥15,620
P [0213.00 O8N T-75" 25~ Adjuster ¥490 ¥539
Q |D.M6AB. 709y MG (F40) AB. nut M6 ¥20 ¥22
R [D.M8AB. 0yoFyM8 (F40Y) A.B. nut M8 ¥30 ¥33
S |[D.F.M5 Flanged nut M5 mm ¥0
T |RES A7°UY9*9y5v- D.8x15 Spring washer @ 8 mm ¥30 ¥33
U [RP.6X12 J93v- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
V  |V.TCE8X65 $97°ii" b 8x65 TCEI screw 8x65 mm ¥0




K ART

PARTS

GRUPPO PUNTALI E RIPARTITORE
PUSH RODS SYSTEMS AND BRAKE BIAS ADJUSTER

o
) .
- :
G J C
B TN £ 1%
—_— G ® '
) ém ' ﬂ F © ?I
Fo G o' £
& oL " &
D K F— / .E'_L_
E F

SA2 - SA3 - BSD

94

In vigore dal - Effective from 01-08-2022




@ | | K OTK KART JAPAN PRICE LIST

KART JAPAN 2025/2/1~

PUSH RODS SYSTEMS AND BRAKE ADJUSTER

Description
A |0117.00 7°yy10yh" YA7h BSM Complete BSM pump's push rods system ¥14,200 ¥15,620
B (0117.00A 7°9y10yh" YA7h BS4-5-6-7 Complete SA2 - SA3 pump's push rods system ¥15,400 ¥16,940
c |o117.01 7°yyanyh7°b-b Push rod's plate ¥3,200 ¥3,520
D (0119.01 YA9-7°yy10yh* 68mm BSM BSM pump's push rod L. 68 mm ¥1,300 ¥1,430
E (0119.A1 YA9-7°yy10y b 53mm BS3-4-5-6-7 BS5 - SA2 - SA3 pump's push rod L. 53 mm ¥1,900 ¥2,090
F  ]0119.09 N Iy)Iys-t°y Peg's locking split-pin ¥20 ¥22
G [0028.01 7" b-$71-9L° > M6X12(S) Fork M6x12 mm ¥880 ¥968
H [0028.B1 7 b-$74-9° Y M6X24(L) Fork M6x24 mm ¥1,100 ¥1,210
1 (0028.03 t°uI74-1 6x18/1ifi-) Pin 6x18 mm (1 hole) ¥670 ¥737
J  [0028.04 t° v71-7 6x22/2ik-) Pin 6x22 mm (2 holes) ¥1,100 ¥1,210
K |D.M6 Fyh M6 Nut M6 mm ¥10 ¥11
L [R.P.6X11 7y3v- D6.4x11x1,5mm Washer @ 6,4x11x1,5 mm ¥10 ¥11
M |R.P.6X12 7y3p- D.6.3x12.5x1mm Washer @ 6,3x12,5x1 mm ¥20 ¥22
N [0028.05 7 b-$0° 5" 21D b M6 M6 threaded pin with head ¥1,500 ¥1,650
o |[p.measB. A7095F9 M6 (F40) AB. nut M6 ¥20 ¥22
P |0116.B8 $-9h27° 055 1pUN°-t° Circle spring ¥38 ¥42
IAF-3Y9" -0y b L.(290-355-395-435-470-480-490-510-  |Brake pump's control rod L. (290 - 355 - 395 - 435 - 470 -
Q [0118. 525-540-560-575-595-600-610)mm 480 - 490 - 510 - 525 - 540 - 560 - 575 - 595 - 600 - 610) mm ¥3,200 ¥3,520
R [0118.435A IAF-Y58" -0y b 435mm/Jr.Jy Mif° - M Brake pump's bent control rod L. 435 mm ¥4,900 ¥5,390
R (0118.470A IA5-3Y28° -0y b 470mm/59"° -N° 5" VB Brake pump's bent control rod L. 470 mm ¥4,900 ¥5,390
S  |0119.00A YA9-5YY4" -7-h COMP/BS3-5 Complete set of lengthening arms BS5 ¥22,400 ¥24,640
T [0119.04A YA9-5Y58" -#il°-pJ° b-ML BS5 lengthening arms' plate ¥3,700 ¥4,070
U [0119.05A V3" 29-)7"ALU BS5 lengthening arms' knob ¥4,900 ¥5,390
vV [0119.07 7°yy10yM Evs-n ot Central peg for BS5 lengthening arms ¥2,700 ¥2.970
W (0119.10 V3" 29-7-h BS5 Threaded bar for BS5 lengthening arms ¥170 ¥187
X 011912 A DyHIN - Anti-unscrewing rubber for BS5 lengthening arms ¥20 ¥22
Y |G.6X8 A° )" DyHM6x8 Lock M6x8 mm flat tip ¥40 ¥44
Z |[RE® A2°U55" 9959~ D.6x12 Spring washer @ 6 mm ¥20 ¥22




KIT TUBI FRENO
BRAKE PIPES KIT

r- - - - - --------=- - = — 7

| C |
| - |
| N |
| |
| |
| . |
| |
I - |
___________________

E1 f‘

E2 F

- O

96 In vigore dal - Effective from 01-08-2022




=2Ark

K& AT JAFPAN

BRAKE PIPES KIT

OTK KART JAPAN PRICE LIST
2025/2/1~

Description
A |0081.C3 Brake pipes kit for Rookie - Nordix
0081.BKFBS6 SA2 brake pipes kit

C  |0081.BKF1060  (AF-I7"b-#ii-A OK/V71090mm SA2 brake pipe Long ¥15,800 ¥17,380
D [0081.BKF1000  |AF-M7"L—#ii—Z OK/Y71020mm SA2 brake pipe Short ¥15,400 ¥16,940
E1 (0081.BM1035 AF-I7" V-%ifi-2 NEOS (1035mm) Neos brake pipe Long ¥19,800 ¥21,780
E2 (0081.BM990 AF-07" V-%ifi-2 NEOS (990mm) Neos brake pipe Short ¥19,300 ¥21,230
F  [0081.BKFBS7 SA3 brake pipes kit

G |0081.BMUSA AF-I7" V-}ifi-2 KIT/ROOKIE EV BSM 4 brake pipes kit ¥32,100 ¥35,310
H1 |0081.BF AF-N7* V-%ifi-2 KIT KZ/702b (2015) BSS Front brake pipes kit ¥36,400 ¥40,040
H2 [0081.BR AF-M7 b=}l KIT KZ/V7 (2015) BSS Rear brake pipes kit ¥37,400 ¥41,140

I [0217.A0 7" b-%ik-214009527° (BST) Double silicon clamp ¥250 ¥275
J  |0227.A06 N47°54b=55 V99" 6mm Pipe's tightening ring @ 6 mm ¥640 ¥704
K [0227.A10 N AT°54b=0 Y95 10mm Pipe's tightening ring @ 10 mm ¥590 ¥649
L [0227.A15 N4T°54b20" Y5 16mm Pipe's tightening ring @ 16 mm ¥710 ¥781
M  [V.TB5X16 " 9YA9Y1- 5%x16 TB screw 5x16 mm ¥80 ¥88
N |R.P.5X11 J93%- D.5x11 Washer @ 5x11x1 mm ¥10 ¥11
0 (D.M5AB. 0yo3y b M5(340Y) A.B. nut M5 mm ¥20 ¥22
P [v.TB6X16 i 4291~ 6x16 TB screw 6x16 mm ¥50 ¥55
Q |R.P.6X12 7y3v- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
R D.M6A.A. Fyb M6 A.A. nut M6 ¥20 ¥22
S |0078.A1 7 b=%ik-25" 314 MA M- BS5-6-SA2 Brake pipe's straight connector ¥420 ¥462
T |0078.B1 7" b=%if-25" 3I4YMAM~F M10x1-1/8 (2015) Brake pipe's straight connector M10x1-1/8" ¥1,100 ¥1,210
U |0080.A1 7 b-%ik-25" 34OMT Brake pipe's "T type" connector ¥1,200 ¥1,320
vV [0079.A1 7" b-%ik-25" 34 ML Brake pipe's "L type" connector ¥840 ¥924
z |0081.83BA 7°b-#-25" 3PV 1- 1/8 Drilled screw 1/8 for banjo fitting ¥780 ¥858
AA  |0081.B3VR 7 V=%ik-25" 342 MIySr- 118 Washer for drilled screw ¥110 ¥121




0
-
is
q
o

K ART

RADIATORE 480 x 196 mm
RADIATOR 480 x 196 mm

Tav. 47

In vigore dal - Effective from 01-08-2022

98



@ | | K OTK KART JAPAN PRICE LIST

KART JAPAN 2025/2/1~

470 x 195 RADIATOR

Description
A |0093.TAB OTK 53" I9-Kit 470X195 OTK radiator 470x195mm complete with supports ¥71,700 ¥78,870
B [0093.TA1 OTK 55" I4- 470x195 OTK radiator 470x195mm ¥62,400|  ¥68,640
C |0094.TAB 55" 19-9it° - (470x195mm) OTK radiator 470x195mm supports ¥16,300 ¥17,930
D [0093.02 PN T b-33550" - Anti-vibration rubber ¥420 ¥462
E [0093.04 35" 19-5N"-h3- Bush for anti-vibration rubber ¥320 ¥352
F  [0093.T5 73" 19-%i° -p7"y1 Bush for radiator's support ¥810 ¥891
G (0094.PAA 55" 19-4ik°-pJ° b=} (4holes) Support plate for radiator 4 holes ¥1,700 ¥1,870
H [0094.RAA 55" 19-#it° - p Radiator support ¥7,500 ¥8,250
I [0094.R0-2 35" 19-F1-7" An° -4~ Radiator tube spacer ¥1,700 ¥1,870
J  ]0033.00 0t yhIYSv- ME/ALU Biconical AL washer @ 6 mm ¥290 ¥319
K |D.M6AB. 7093y MG (40) AB. nut M6 ¥20 ¥22
L |RP.6X18 795v- D.6x18 Washer @ 6x18x1 mm ¥10 ¥11
M |RP.8X17 7y5v- D.8X17 Washer @ 8x17 mm ¥20 ¥22
N |V.TCE8X65 $ry7°ik* b b 8x65 TCEI screw 8x65 mm
0 |V.TE6X100 AT I Vb 6x100 TE screw 6x100 mm ¥190 ¥209
P |V.TE6X105 AT I b 6x105 TE screw 6x105 mm ¥240 ¥264
Q |V.TPSCEI6X25 |45 I} 6x25 TPSCEI screw 6x25 mm ¥40 ¥44
R 0094.2D Air choke kit
S |0082.B13 Spring for pad's pin
T ]0094.Z3 Radiator buffer
U ]0094.ZB3 Upper nylon pulley
V' 0094.Z2B4 AL Bush
W |0094.ZB5 Lower nylon pulley
X [0094.zC1 Radiator curtain
Y |0094.zC2 Curtain sliding plate
Z ]0094.2C6 Curtain sleeve
AA  |0094.ZC7 AL Bar
AB |0094.ZD2C Air choke right support
AC |0094.ZD2D Air choke left support
AD |0094.ZD8 Sliding belt
AE |D.M5 Nut M5 mm
AF [D.M5A.B. A.B. nut M5 mm
AG [R.P.5X11 Washer @ 5x11x1 mm
AH  [V.TB5X10 TB screw 5x10 mm
Al [V.TB5X25 TB screw 5x25 mm
AJ |V.TE6X110 TE screw 6x110 mm




K ART PARTS

T 49 POMPA ACQUA - PULEGGE - TUBI - FASCETTE
av. WATER PUMP - PULLEYS - PIPES - CLAMPS

102 In vigore dal - Effective from 01-08-2022 E




=2Ark

K& AT JAFPAN

WATER PUMP - PULLEYS - PIPES - CLAMPS

OTK KART JAPAN PRICE LIST

2025/2/1~

Description

A (0097.B0 94-5-1k° ¥7° 12017 Water pump ¥20,100 ¥22,110
B (0097.B10 91=9-1°372°17°-Y- (/I\) Water pump pulley ¥3,700 ¥4,070
C |G.5%8 AFPUIT vy 7 yI1 M 4E43" (5x8mm) Locker M5x8 mm ¥40 ¥44
D |0097.04 9A=-5-ik° ¥7° INPYYH* Water pump bearing ¥2,500 ¥2,750
E [V.TB5X20 i 9YA9Y1- 5x20 TB screw 5x20 mm (for BSD system) ¥80 ¥88
F |R.P.5X11 793¥- D.5x11 Washer @ 5x11x1 mm ¥10 ¥11
G [0097.B3A I=9-°97° MIN°F-377 b 2017(%5" E4mm) Water pump crankshaft ¥1,300 ¥1,430
H [0097.08A 94=5-ik° Y7° MIN° 5-5v I bs-h" - Seeger for water pump shaft ¥30 ¥33
I (0097.B6 9A=5-k°V7° 1" Ay b Sponge for water pump ¥340 ¥374
J 0097.05 94-5-ik°27° 145~ RG 6X22X7 Oil-seal ¥1,100 ¥1,210
K |0097.B7A I4=§-i°Y7° MIN° 5- 2017(25" Fdmm) Water pump Impeller ¥3,400 ¥3,740
L [D.M5AB. 0yo3y b M5(F40Y) AB. nut M5 ¥20 ¥22
M [V.TCE4X12 $ry7° i b 4x12 TCEI screw 4x12 mm

N |0259.DA 9A=-5-i° ¥7° Hifi° - b Water pump support ¥1,700 ¥1,870
0  |0259.E28KIT 94-5-ik°Y7°H377°KIT D.28 Complete water pump clamp @ 28 mm ¥16,100 ¥17,710
0  |0259.E30KIT 94-9-i°¥2°H37°KIT D.30 Complete water pump clamp @ 30 mm ¥16,900 ¥18,590
0  |0259.E32KIT 94-9-°¥7°H37°KIT D.32 Complete water pump clamp @ 32 mm ¥16,900 ¥18,590
P  [0098.B0 94-§-i°v7°7°-Y-D.50 Water pump pulley @ 50 mm ¥6,500 ¥7,150
Q |0096.C0 94-8-°Y2° M 4T A" b (A-Y55")92mm Water pump belt @ 92 mm ¥350 ¥385
R [0096.00 94=5-°Y2° M 34T N b (A-YT) Water pump belt @ 110 mm ¥350 ¥385
S (0096.B0 94-8-°Y7° M 4T A b (A-Y25°)113mm Water pump belt @ 133 mm ¥350 ¥385
T [0095.00 73" 19-H-A L Water pipe L. 800 mm ¥5,900 ¥6,490
U |0095.A0 35" 19-N4N\° A=A ®12x17mm Water pipe @ 12x17 mm ¥2,000 ¥2,200
vV (0091.00 9A=5--Z2N" I 016x25mm Water pump AC clamp @ 16x25 mm ¥470 ¥517
W [0091.A0 9A=5--2N" M 012x20mm Water pump AC clamp @ 12x20 mm ¥450 ¥495




K ART PARTS

T 50 GRUPPO LEVA CAMBIO
av. GEAR LEVER SYSTEM

104 In vigore dal - Effective from 01-08-2022 g




=2Ark

K& AT JAFPAN

WATER PUMP - PULLEYS - PIPES - CLAMPS

OTK KART JAPAN PRICE LIST

2025/2/1~

Description
A |0111.B0 VN - KZ1M1 Gear lever ¥26,800 ¥29,480
B (0112.B0 F UM I Kz Gear lever knob ¥5,600 ¥6,160
Cc |0111.002 F U -7 9391 KZ1M1 Gear lever's nylon bush ¥1,300 ¥1,430
D (0111.B0A 7V -12953Y KZIM1 Gear lever's connector ¥13,700 ¥15,070
E [0114BA $ 754090 KZ 530mm/11 Gear tie-rod 530 mm ¥7,300 ¥8,030
F  ]0009.00 IKO 540y M " =)>* 3YMR(Fy MEL) Complete right steering joinbal ¥2,000 ¥2.200
G (0009.A0 IKO 440y M ik =) 3 ML(Fy ML) Complete left steering’s joinbal ¥2,000 ¥2,200




o)k
K ART PARTS
CARENATURE
BODYWORKS M6 - M7
B7
C \ :
L -
B1
P
C

. CIK-FIA

.

106

In vigore dal - Effective from 01-08-2022




=2Ark

K& AT JAFPAN

M6 + M7 BODYWORKS

OTK KART JAPAN PRICE LIST
2025/2/1~

Description

A |0306.FCPB J0YMA#° 13- M6 ONLY M6 front fairing without supports ¥21,400 ¥23,540
0306.FCPKIT M6 front fairing with supports
0306.FCPHKIT M6 front fairing with CIK supports
B1 [0302.G0 JOyMC RN M7 KIT M7 Pearl front spoiler kit + yellow number plate ¥40,100 ¥44,110
B2 {0302.GOA M7 Light Blue front spoiler kit + yerllow number plate
B3 [0302.G0OB M?7 Blue front spoiler kit + yerllow number plate
B4 |0302.GONG M7 Black front spoiler kit + yerllow number plate
B5 [0302.GOR M7 Red front spoiler kit + yerllow number plate
B6 [0302.GOV M7 Green front spoiler kit + yerllow number plate
B7 [0302.G02 M7-M8 FIN*-7° - M7 / M8 yellow number plate ¥9,900 ¥10,890
C  |0300.FCP B vIZ M6 M6 side box ¥15,800 ¥17,380
E |0305.E0C 70V M\ £h07A7~ M6 CIK/215mm M6 CIK lower spoiler's support ¥2,700 ¥2.970
E |0305.FOC J0YMC 2W07A7- M7/M8-MK20 CIK/190mm M7/M8-MK20 lower spoiler's support ¥2,700 ¥2.970
E |[0305.E0 70YMC 20727~ M6 STD/205mm M6 Standard lower spoiler's support ¥2,700 ¥2.970
F  |V.TPSCEI6X25 |45k b 6X25 TPSCEI screw 6x25 mm ¥40 ¥44
G |0033.00 0" yhIyor- M6/ALU Biconical AL washer @ 6 mm ¥290 ¥319
H ]0031.00 N -T957-6x20 Rubber @ 6x20 mm Red ¥80 ¥88
I |V.TCE6X20 Fry7° ik bb 6x20 TCEI screw 6x20 mm ¥30 ¥33
J |RP.6X12 J93v- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
K |p.MeAB. thI0y5Hy M6 (F40) AB. nut M6 ¥20 ¥22
L D.M6A.A. Fyh M6 A.A. nut M6 ¥20 ¥22
M |0304.F0 J0YMC 2 AT- M6-7 M6 - M7 upper spoiler's support ¥2,600 ¥2.860
M1 |0304.FOA J0UN° #MAT-Hifi° - b M6-7-8 M7 upper spoiler's support stiffener ¥1,900 ¥2,090
M2 |V.TB5X16 i 9291~ 5%x16 TB screw 5x16 mm ¥80 ¥88
M3 [RE.S5 A7°UY" 995 ¥- D.5 Spring washer @ 5 mm ¥20 ¥22
N |V.TPSCEI6X20  |45i" b 6x20 TPSCEI screw 6x20 mm ¥40 ¥44
O  (0306.FCHKIT 70V Mk 43-7" 349+ M4/5/6 TYPE CIK 1pc Connection Kit type CIK for M4 - M5 - M6 front fairing ¥2,700 ¥2.970
P  |0306.FCKIT 70y b2k 43-7" 359 M4/5/6 TYPE STD 1pc Connection Kit Standard for M4 - M5 - M6 front fairing ¥2,600 ¥2.860
0302.FCP J0YMC 2k M6 M6 front spoiler ¥6,300 ¥6,930




CARENATURE
LIEVAEPAS 5 0DYWORKS

D
D
A
F
S o
94
N F_ Sy
H Joo E 2
e \
o
-
LN
© ® L |
'Y -
F g
= l‘ .. - . b
*  CK-FA JE. - STANDARD

108 In vigore dal - Effective from 01-08-2022 E




OTK KART JAPAN PRICE LIST
2025/2/1~

=2Ark

K& AT JAFPAN

M10 BODYWORKS

Description

0306.FEP IOV 45— KG 507 ONLY KG front fairing hom. KG 003-BF-99 ¥23200(  ¥25520
A |0306.FDP J0YMA#° 13- M10 ONLY M10 front fairing without supports ¥9,000 ¥9,900

0306.FDPKIT M10 front fairing with standard supports

0306.FDPHKIT M10 front fairing with CIK supports
B1 [0302.G0 JoyMC RN M7 KIT M7 Pearl front spoiler kit + yellow number plate ¥40,100 ¥44,110
B2 |0302.G0OA M7 Light Blue front spoiler kit + yerllow number plate
B3 [0302.G0B M?7 Blue front spoiler kit + yerllow number plate
B4 |0302.GONG M?7 Black front spoiler kit + yerllow number plate
B5 [0302.GOR M7 Red front spoiler kit + yerllow number plate
B6 [0302.GOV M7 Green front spoiler kit + yerllow number plate
C ]0302.G02 M7-M8 FIN*-7° b~ M7 / M8 yellow number plate ¥9,900 ¥10,890
D [0300.FDP B2 M10 M10 side box ¥15,800 ¥17,380
E |0305.F0C 700 M\ £W07A7- M7/IMK20 CIK/190mm M7 CIK lower spoiler's support ¥2,700 ¥2.970
F  |V.TPSCEI6X25 |45k I 6x25 TPSCEI screw 6x25 mm ¥40 ¥44
G |0033.00 0" yhIySr- M6/ALU Biconical AL washer @ 6 mm ¥290 ¥319
H ]0031.00 N -T957-6x20 Rubber @ 6x20 mm Red ¥80 ¥88
I |V.TCE6X20 Fry)° ik hb 6x20 TCEI screw 6x20 mm ¥30 ¥33
J |RP.6X12 Jy3¥- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
K |D.M6AB. 7093y MG (F40) AB. nut M6 ¥20 ¥22
L D.M6A.A. Fyh M6 A.A. nut M6 ¥20 ¥22
M |0304.F0 70 MC 2 AT- M6-7 M6 - M7 upper spoiler's support ¥2,600 ¥2.860
M1 |0304.FOA J0UN° #MA7-Hifi - b M6-7-8 M7 upper spoiler's support stiffener ¥1,900 ¥2,090
M2 |V.TB5X16 " 9YAIY1- 5%16 TB screw 5x16 mm ¥80 ¥88
M3 |RES5 A2°Y5° 9959~ D.5 Spring washer @ 5 mm ¥20 ¥22
N |V.TPSCEI6X20  |45i" b 6x20 TPSCEI screw 6x20 mm ¥40 ¥44
O  (0306.FCHKIT 70V Mk 43-7" 359 b TYPE CIK 1pc Connection Kit type CIK for M10 front fairing ¥2,700 ¥2.970
P |0306.FCKIT 70V b2k 43-7" 359 b TYPE STD 1pc Connection Kit Standard for M10 front fairing ¥2,600 ¥2,860




K ART PARTS
CARENATURE
BODYWORKS M4
M
J
L] K‘ '
5 g
H g N
c g=o
B
[T Ye)
F\G
.y
.r’o E C
Hie i
K ol
L"‘ - J
*J"H
Q
R :\!
D
A
CIK-FIA 5~ STANDARD

110

— |0 vigore dal - Effective from 01-08-2022 =e——

&<




@ | | K OTK KART JAPAN PRICE LIST

KART JAPAN 2025/2/1~

M4 BODYWORKS

Description
A |0306.FAPKIT M4 front fairing with supports ¥0
A |0306.FAPHKIT M4 front fairing with CIK supports ¥0
B  [0302.FAP JOYMC 2k M4 M4 front spoiler ¥6,300 ¥6,930
C  |0300.FAP B vI2 M4 M4 side box ¥14,300 ¥15,730
E [0305.DA 70V MC 20727~ M3-M4/175mm M4 lower spoiler's support ¥2,600 ¥2.860
F V.TPSCEI6X25 #3ik )b b 6x25 TPSCEI screw 6x25 mm ¥40 ¥44
G |0033.00 0" yhIySr- M6/ALU Biconical AL washer @ 6 mm ¥290 ¥319
H ]0031.00 N -T957-6x20 Rubber @ 6x20 mm Red ¥80 ¥88
I |V.TCE6X20 Fry7° ik bb 6x20 TCEI screw 6x20 mm ¥30 ¥33
J |RP.6X12 Jy3¥- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
K |p.MeAB. A7095F9 M6 (F40) AB. nut M6 ¥20 ¥22
L D.M6A.A. Fyh M6 A.A. nut M6 ¥20 ¥22
M |0304.E0 70V MC 2 A7- M4(M5 CIK) M5 upper spoiler's support CIK ¥2,300 ¥2,530
N |V.TPSCEI6X20 #3ik )b b 6x20 TPSCEI screw 6x20 mm ¥40 ¥44
0 |[v.TB8X16 " 4o29Y1- 8x16 TB screw 8x16 mm ¥110 ¥121
P |RES A7°Uy9*9y5v- D.8x15 Spring washer @ 8 mm ¥30 ¥33
Q [V.TB6X16 " 9291~ 6x16 TB screw 6x16 mm ¥50 ¥55
R |R.P.6X18 Jy¥- D.6x18 Washer @ 6x18x1 mm ¥10 ¥11
S |0306.FCHKIT 70V bk 43-7" 349 TYPE CIK 1pc Connection Kit type CIK for M10 front fairing ¥2,700 ¥2.970
T |0306.FCKIT 70V b2k 43-7" 359 b TYPE STD 1pc Connection Kit Standard for M10 front fairing ¥2,600 ¥2.860




KART PARTS
CARENATURE
BODYWORKS M3
\
4
D
B1
C
A
.

112

In vigore dal - Effective from 01-08-2022




@ | | K OTK KART JAPAN PRICE LIST

KART JAPAN 2025/2/1~

M8 BODYWORKS

Description

0306.AEP oYk 13- MK20 MK20 front fairing hom.0003-BF-19 ¥18,200 ¥20,020

A |0306.FAP 70V b2k 13- M8 ONLY M8 front fairing ¥15,200 ¥16,720
B1 |0302.GA J0YMC )b M8-KIT M8 Pearl front spoiler kit + yerllow number plate ¥35,000 ¥38,500
B2 M8 Light Blue front spoiler kit + yerllow number plate ¥0
B3 M8 Blue front spoiler kit + yerllow number plate ¥0
B4 M8 Black front spoiler kit + yerllow number plate ¥0
B5 M8 Red front spoiler kit + yerllow number plate ¥0
B6 M8 Green front spoiler kit + yerllow number plate ¥0
C |0302.GA1 707 )k MBMINI M8 front spoiler ¥30,800 ¥33,880
D |0300.ADP $4M i yJZ M5-8 (MINI) M5 / M8 side box ¥13,700 ¥15,070
0302.G02 M7-M8 FIN*-7° b~ M7 / M8 yellow number plate ¥9,900 ¥10,890
0305.FOC J0YMC #07A7- M7/M8-MK20 CIK/190mm M7/M8-MK20 lower spoiler's support ¥2,700 ¥2.970

F  |0305.BA 70YMC 2 AT~ M8 CIK Lower spoiler's support ¥2,600 ¥2.860
G [0304.FB 70V)° 2427~ M8 ROOKIE CIK 1pc Upper spoiler's support for Mini CIK-FIA ¥2,600 ¥2.860
H [V.TB4X12 9y~ 4x12 TB screw 4x12 mm ¥60 ¥66
I [RP.4X8 J95v- D.4x8 Washer @ 4x8 mm ¥10 ¥11
J  |p.M4AB. 093y MM4(F40Y) AB. nut M4 ¥20 ¥22
K |v.TB6X16 i 4291~ 6x16 TB screw 6x16 mm ¥50 ¥55
L |RE®6 A2°U55" 9959~ D.6x12 Spring washer @ 6 mm ¥20 ¥22
M |0304.FOA J0UN° 2 A7-Hifi - b M6-7-8 Upper spoiler's support stiffener ¥1,900 ¥2,090
N |V.TB5X16 i 9291~ 5%16 TB screw 5x16 mm ¥80 ¥88
0 |[RES5 A2°Y5° 9959~ D.5 Spring washer @ 5 mm ¥20 ¥22




K ART PARTS

o ORKS MINI EXP E MINI KID

J *eeN

J o0

114 In vigore dal - Effective from 01-08-2022 -]<




=2Ark

K& AT JAFPAN

MINI EXP AND MINI KID BODYWORKS

Description

OTK KART JAPAN PRICE LIST

2025/2/1~

A |0306.ADP J0YMA#° 13- M5 ONLY M5 Rookie front fairing without supports ¥15,200 ¥16,720
B  [0302.ADP 70YMC £k M5 (MINI) M5 front spoiler ¥5,700 ¥6,270
c |o300.AFP MINI 84 £ % 99 UNICO Mini Kid, Mini EXP side box ¥11,900(  ¥13,090
D (0305.BA 70V 210727~ M8 CIK(M5 STD)135mm M5 lower spoiler's support Standard ¥2,600 ¥2.860
E |V.TPSCEI6X25  |45ik" hb 6x25 TPSCEI screw 6x25 mm ¥40 ¥44
F  ]0033.00 0" yhIyor- M6/ALU Biconical AL washer @ 6 mm ¥290 ¥319
G [0031.00 N -T957-6x20 Rubber @ 6x20 mm Red ¥80 ¥88
H |V.TCE6X20 $ry7°i° Wb 6x20 TCEI screw 6x20 mm ¥30 ¥33
| R.P.6X12 Jy3p- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
J |D.M6AB. 7091y IM6 (F40Y) A.B. nut M6 ¥20 ¥22
K D.M6A.A. Fyb M6 A.A. nut M6 ¥20 ¥22
L  [0304.00 70YMC 2 A7~ M5 STD M5 upper spoiler's support Standard ¥2,300 ¥2.530
M |V.TPSCEI6X20  [45i" b 6x20 TPSCEI screw 6x20 mm ¥40 ¥44
N |V.TB6X15 i 9YA9)1- 6x15 TB screw 6x15 mm ¥50 ¥55
0 [RP.6X18 Jyv- D.6x18 Washer @ 6x18x1 mm ¥10 ¥11




K ART PARTS

CARENATURE MICRO

116 In vigore dal - Effective from 01-08-2022




=2Ark

K& AT JAFPAN

MICRO BODYWORKS

OTK KART JAPAN PRICE LIST

2025/2/1~

Description
A |0306.A0 JnypAi° 13- BABY(MICRO) Micro front fairing ¥15,200 ¥16,720
B |0302.B0 707 M\° %) BABY(MICRO) Micro front spoiler ¥5,700 ¥6,270
C  ]0300.B0 #4M" i vJ2 BABY(MICRO) Micro side box ¥9,800 ¥10,780
D |0304.A0 70V0° 2 YA7- MICRO Micro upper spoiler's support ¥2,200 ¥2.420
E [V.TB6X15 " 9YAIY1- 6x15 TB screw 6x15 mm ¥50 ¥55
F |R.P.6X18 Jy¥- D.6x18 Washer @ 6x18x1 mm ¥10 ¥11
G [RP.6X12 J9v- D.6x12 Washer @ 6,3x12,5x1 mm ¥20 ¥22
H |D.M6AB. 7095+ N6 (F4D) A.B. nut M6 ¥20 ¥22
I |0301.A0 MICRO J0YMI 1790y BRfF$y b Micro front fairing's connections kit ¥5,200 ¥5,720




K ART PARTS

SILENZIATORI
Tav. 57 s

118

. |
In vigore dal - Effective from 01-08-2022 g




=2Ark

K& AT JAFPAN

OTK KART JAPAN PRICE LIST

2025/2/1~

SILENCERS
Description

A [0225.GLA22 Arrow intake silencer LA22

B |0225.GLA29 Arrow intake silencer LA29

C  [0225.GLB22 Arrow intake silencer LB22

D [0225.GLB29 197-944V>%- ARROW LB29 Arrow intake silencer LB29 ¥14,600 ¥16,060
E [0225.02 ARROW {J7-084bo8-51N"-N\°47° Intake silencer's rubber ¥3,400 ¥3,740
F  |0225.H023 157994V %- NITRO D.23 Nitro intake silencer D.23 mm ¥31,200 ¥34,320
F  ]0225.H030 157944V 7%~ NITRO D.30 Nitro intake silencer D.30 mm ¥31,200 ¥34,320
G  (0229.DA 197094V %-4ifi° - b NITRO Intake silencer's support Nitro ¥7,100 ¥7,810
H |0225.03 A97=-094V -0y N°17° 922 Intake manifold L. 22 mm ¥1,200 ¥1,320
I [0225.A3 A7=-094V 8-y N°17° 929 Intake manifold L. 29 mm ¥1,200 ¥1,320
J  [0225.04 ARROW Y3y \°47° 7415~ Intake silencer's filter ¥340 ¥374
K [0225.05 A97-984b 8- b Intake silencer's steel clamp @ 50-70 mm ¥620 ¥682
L ]0229.00 ARROWA »7-944 L y4-Hit® - P A7~ Intake silencer's support ¥2,900 ¥3,190
M 10208.00 KZ exhaust silencer

N |0229.AA1KIT OTK 1Y7-744b %-4ii° - b Kit Rok Kit intake silencer's support Rok Jr-GP ¥10,400 ¥11,440
0  [0229.AA2KIT OTK 1Y7-I44V %4k - b Kit KZ Kit intake silencer's support KZ ¥10,400 ¥11,440




Sk

KART PARTS

T 58 PESI - FILI - GUAINE - MORSETTI - TAPPI CROMATI - FASCETTE
av. WEIGHTS - CABLES - OUTERS - LOCKS - CHROMIUM-PLATED PLUGS - CLAMPS

120 In vigore dal - Effective from 01-08-2022 E




OTK KART JAPAN PRICE LIST
2025/2/1~

=2Ark

K& AT JAFPAN

WEIGHTS - CABLES - OUTERS - LOCKS - CHROMIUM-PLATED PLUGS - CLAMPS

Description
A ]0275.03 Weight about 3 Kgs.
B 0275.01 Weight about 1 Kgs.
C |C05012010 Counterweights 60 gr. for wheels (1 dipstick)
D |0280.A0 OTK 71-Ih74M5- Fuel filter with 90° connection ¥1,700 ¥1,870
E ]0281.00 Fuel pipe's "Y" type" connector
F  |0281.0A J1-INk-25" 34V 3way (YEL)/AF- Metal fuel pipe's "Y" connector ¥2,200 ¥2.420
G [0281.AA J1-INk-25" 34V 3way (TBE)/ZF-) Metal fuel pipe's "T" connector ¥2,200 ¥2.420
H (0202.00A 7 V-$-7745-7" I Safety brake cable ¥460 ¥506
1 (0202.00 7 b=-35-7" 0 Brake cable ¥1,200 ¥1,320
J  [0202.A0 PIeNs-7" WAYF-D Accelerator cable ¥510 ¥561
K ]0202.B0 b3935-7" 0 Clutch cable ¥880 ¥968
L ]0203.00 9539F17° V-394 1-1795-F1-7" 1500mm Brake cable's outer ¥1,400 ¥1,540
M ]0203.A0 Accelerator cable's outer
N [0207.A0 94¥-9357° 1229V 1~ "Plate type" clamp double screws ¥880 ¥968
0 |0207.00 7eNs-77 hoyy Accelerator cable's lock ¥490 ¥539
P ]0209.00 Accelerator cable's lock
Q {0210.00 57" V-7 iy Double cable's lock ¥420 ¥462
R [0210.A0 99" Wy-7" hayy Single cable's lock ¥510 ¥561
S ]0213.00 O8N T-75" 25~ Adjuster ¥490 ¥539
T [0214.A0 POENIITPS” vRG-n° I Adjuster's peg ¥2,500 ¥2.750
U [0214.B0 Outer's locking peg
vV  [0124.00 J0-hvy7°D.28 Chromium-plated plug @ 28 mm ¥250 ¥275
W (0124.A0 J0-hvy7°D.30 Chromium-plated plug @ 30 mm ¥250 ¥275
X |0124.B0 J0-h$+v7°D.32 Chromium-plated plug @ 32 mm ¥280 ¥308
Y (0227.00 Cable tie 4,8x200 mm
Z ]0227.A0 Cable tie 2,5x200 mm
AA  |0214.D0 POENIHT-75" ¥29-N° " OK-KZ Adjuster peg KZ accelerator ¥2,500 ¥2,750




KART PARTS

"IN CATENE - SPRAY - OLIO
av. CHAINS - SPRAY - OIL

Aacing
LT KE FLUE

] RACING. RAPID

HE TN LUE HELOCKING

122 In vigore dal - Effective from 01-08-2022




@ | | K OTK KART JAPAN PRICE LIST

KART JAPAN 2025/2/1~

CHAINS - SPRAY - OIL

Description

A ]0231.D0 DID chain pitch 1/2"

B 10230.D0 Link for DID chain pitch 1/2 "

C  |0231.A08 Chain DID HTM G/B DHA 86

C  [0231.A01 Chain DID HTM G/B DHA 98

C  |0231.A00 Chain DID HTM G/B DHA 100

C |0231.A0 Chain DID HTM G/B DHA 102

C [0231.A1 Chain DID HTM G/B DHA 104

C [0231.A2 Chain DID HTM G/B DHA 106

C [0231.A3 Chain DID HTM G/B DHA 108

C |[0231.A4 Chain DID HTM G/B DHA 110

C |0231.A5 Chain DID HTM G/B DHA 112

D |0231.B00 Chain 219 with o-ring DHA 100

D ]0231.B0 Chain 219 with o-ring DHA 102

D ]0231.B1 Chain 219 with o-ring DHA 104

D ]0231.B2 Chain 219 with o-ring DHA 106

D ]0231.B3 Chain 219 with o-ring DHA 108

D |0231.B4 Chain 219 with o-ring DHA 110

D |0231.B5 Chain 219 with o-ring DHA 112

E  |C04FG400 Racing chain lube

F  |C04LB400 Rapid Unblocking

G |C04BC600 Brake's cleaner

H |CO40EHDPE1000 |Eni Kart 2T Racing Oil LT. 1 Eni Kart 2T Racing Oil LT. 1 ¥6,800 ¥7,480
| BF500 OTK 7" b-#$#4)l DOT-5 SILICON (500ml) Silicon brake fluid S DOT 5 (500 ml) ¥6,000 ¥6,600
L  |BF5.1-500 OTK 7" b-$441)l DOT-5.1 (500ml) Brake fluid DOT 5.1 (500 ml) ¥4,700 ¥5170




=2Ark

K& AT JAFPAN

TOOLS AND ACCESSORIES

Description

OTK KART JAPAN PRICE LIST

2025/2/1~

A |BO6EH3200 OPPAMA 794-9- PET-3200R Engine hour-meter ¥4,300 ¥4,730
B  |B0116102 Engine's small flashlight ¥0
C |B0116102L Lamp for engine's flashlight ¥0
D [0155.A0 Disassembling tyres system ¥0
E [E0800371N Seat's sticky foam rubber ¥0
F  0156.00 OTK7"Y-7 455 KIT Bleeding kit ¥12,100 ¥13,310
G |0263.A0 Tires' support ¥0
H [0261.A0 OTKY-My7499"Y-) Kit Seat assembly kit ¥24,490 ¥26,939




OTK KART JAPAN PRICE LIST
2025/2/1~

=2Ark

K& AT JAFPAN

STEERING WHEEL

Description
0083.E0 25779 TONYKART/OK-KZ/HGS/2019 TONY KART HGS STEERING WHEEL ¥49,000 ¥53,900
0083.EK A77Y55" KOSMIC/OK-KZ/HGS/2019 KOSMIC HGS STEERING WHEEL ¥49,000 ¥53,900
0083.EL A57U90° LNIOK-KZIHGS/2022 LN KART 4 SPOKES HGSSTEERING WHEEL ¥49,000 ¥53,900
0083.EC A57YY0° CS55/0K-KZIHGS/2024 CS55 HGS STEERING WHEEL ¥49,000 ¥53,900
0083.EAR 25779 REDSPEED/OK-KZIHGS/2021 REDSPEED HGS STEERING WHEEL ¥49,000 ¥53,900
0083.EE A57Y75° EXPRITIOK-KZ/HGS/2019 EXPRIT HGS STEERING WHEEL ¥49,000 ¥53,900
0083.EG A57Y79" GILLARD/OK-KZIHGS GILLARD HGS STEERING WHEEL ¥49,000 ¥53,900
0083.MAT A77Y79" TONYKART/ROOKIE/HGS/2022 TONY MINI STEERING D.33 mm ¥45,700 ¥50,270
0083.MAK A77Y79" KOSMIC/ROOKIE/HGS/2022 KOSMIC MINI STEERING WHEELD.33 mm ¥45,700 ¥50,270
0083.MAL A77Y29" LN/ROOKIE/HGS/2022 LN KART MINI d.33 mmSTEERING WHEEL ¥45,700 ¥50,270
0083.MAC A77Y79" CS55/ROOKIE/HGS/2024 CS55 D.33 STEERING WHEEL D.33 ¥45,700 ¥50,270
0083.MAR A77Y79" REDSPEED/ROOKIE/HGS/2022 REDSPEED MINI KART D.33 mmSTEERING WHEEL ¥45,700 ¥50,270
0083.MAE A77Y79" EXPRIT/ROOKIE/HGS/2022 EXPRIT MINI d.33 mmSTEERING WHEEL ¥45,700 ¥50,270
0083.MAG A77Y79" GILLARD/ROOKIE/HGS/2022 GILLARD MINI d.33 mmSTEERING WHEEL ¥45,700 ¥50,270

KART TROLLEY&COVER
Description
0151.C0 B-MMIY- A79B-LA KART TROLLEY ¥65,000 ¥71,500
0151.COT h-MrOV-ITONYKART KART-TROLLEY TONY KART ¥72,000 ¥79,200
0151.C0K h-MrOY-/KOSMIC KART-TROLLEY KOSMIC ¥72,000 ¥79,200
0151.COL B-MrOY-/LN KART KART-TROLLEY LN KART ¥72,000 ¥79,200
0151.COR h-MOY-/REDSPEED KART-TROLLEY REDSPEED ¥72,000 ¥79,200
0151.COE h-MrOV-/EXPRIT KART-TROLLEY EXPRIT ¥72,000 ¥79,200
0151.C0G H-MOY-/GILLARD KART-TROLLEY GILLARD ¥72,000 ¥79,200
0151.A2BT h-MrOV-279h- TONYKART TONY KART TROLLEY FLOOR-PLATE STICKER ¥27,700 ¥30,470
0151.A2BK h-MMOY-279H- KOSMIC KOSMIC TROLLEY FLOOR-PLATE STICKER ¥27,700 ¥30,470
0151.A2DL B-MrOV-2795- LN KART LN KART KART TROLLEY FLOOR-PLATE STICKER ¥27,700 ¥30,470
0151.A2CR h-MrOY-279h- REDSPEED REDSPEED TROLLEY FLOOR-PLATE STICKER ¥27,700 ¥30,470
0151.A2DE h-brOY-279h- EXPRIT EXPRIT TROLLEY FLOOR-PLATE STICKER ¥27,700 ¥30,470
0151.A2DG B-MOY-2795- GILLARD GILLARD TROLLEY FLOOR-PLATE STICKER ¥27,700 ¥30,470
0152.A0A TONYKART A-MN"- KART-COVER TONY KART 2019 ¥24,400 ¥26,840
0152.K0A KOSMIC h-MIN" - KART-COVERING KOSMIC 2019 ¥24,400 ¥26,840
0152.EXA EXPRIT h-MN* - KART-COVERING EXPRIT 2019 ¥24,400 ¥26,840




=2Ark

K& AT JAFPAN

OTK KART JAPAN PRICE LIST
2025/2/1~

STICKER
Description
0308.- OTK #Y\"-279h- 0,1,2,3,4,5,6,7,8,9 STICKY NUMBER #0,1,2,3,4,5,6,7,8,9 ¥220 ¥242
0312.XD0 YPRii° 45~ M10 A7yh-KIT REAR PROTECTION GLITTERSTICKERS KIT ¥2,300 ¥2,530
0307.- 0y MC #NATYH- M11/2025 OK-KZ ¥14,500 ¥15,950
0307.- 0 b2 15-279h- M11/2025 OK-KZ ¥24,500 ¥26,950
0307.- B4 yIAATYH- M10/2025 OK-KZ ¥19,000 ¥20,900
0307.- 0 MC ZhATYH- M9/2025 ROOKIE ¥14,500 ¥15,950
0307.- 70 hAi® 15-279h- M9/2025 ROOKIE ¥24,500 ¥26,950
0307.- 4N yIAATYH- M8/2025 ROOKIE ¥14,500 ¥15,950
0073.- 5592598 OK-KZ-ROOKIE ¥9,100 ¥10,010
0072.- J077° b-bA7yh- OK-KZ-ROOKIE ¥14,500 ¥15,950

M9 BODYWORKS

Description

0302.HA- T0YMEC Ik M-KIT MINI M9 SPOILER KIT ¥45900  ¥50,490
0302.HA1- 70N Ik M9 ONLY MINI M9 FRONT SPOILER ¥30,800(  ¥33,880
0302.H02 AIOFIN"-7°b-b M11-M9 M11-M9 YELLOW NUMBER PLATE ¥14,500]  ¥15950
0304.FC F0MC ZWMAT- M9 M9 HIGH SPOILER SUPPORT ¥3,000 ¥3,300
0305.G0D F0YM° 2I7AT- M9 PYN° - M9 UPPER LOW SPOILER SUPPORT ¥3,000 ¥3,300
0305.G0B 707N ZNOPAT- M9-11 07 M11-M9 LOW LOWER SPOILERSUPPORT ¥3,000 ¥3,300
0306.AGP J0YME° 13- M9 ONLY M9 OTK FRONT FAIRING ¥15200(  ¥16,720

M11 BODYWORKS

Description

0302.Ho- T0YME I MU-KIT M11 OTK SPOILER KIT ¥51,700|  ¥56,870
0302.Ho1 707N Ik M11 ONLY M11 PEARL OTK FRONT SPOILER ¥36,800| 40480
0302.H02 AIOFIN"-7°b-b M11-M9 M11-M9 YELLOW NUMBER PLATE ¥14,500]  ¥15950
0304.G0 F0IMC FWMAT- M11 M11 HIGH SPOILER SUPPORT ¥3,000 ¥3,300
0305.G0C FOYMEC RNOPAT- M1 PyA° - M11 UPPER LOW SPOILER SUPPORT ¥3,000 ¥3,300
0305.G0B 707N ZNOPAT- M9-11 07 M11-M9 LOW LOWER SPOILERSUPPORT ¥3,000 ¥3,300
0306.FFP JOYME° 13- M11 ONLY M11 OTK FRONT FAIRING ¥23200]  ¥25520






